VIF T 85,000, = ¥ 3,500, WA € 1,05,000 e
¥a1 ¥ 3,25,0001
Hfgm ¥ 35,000 fFa oo ¥ fafram oo v @
W E T FeR # ¥ ¥ W W wEed g oin
¥y fafEnt #1204 FE W oIm A o
3. 9% EM W YWR TF I ¥ = qfed fEw om
4, FH F FTWR 10% FT o W FEEI T T
5. T1,800 % =l =W QA ¥ TR fFU
FH F TR W IR FE F U SEvVIE TR
T

o

8.  Explain the methods of charging interest on drawings.
IWE W = w1 = fafiar 51 fem o o= o=

9.  Write notes on the following :

(a) Adjustment of undistributed profits or losses and
reserves.

(b) What do you understand by out going of a partner from
the firm ? How his share is determined ? (8+7)

fefafes W 9= 74
(F) Afawfea andimtal 3 S99 %1 gHEsE

(W) FH ¥ TF WERR F T T ¥ HY I quE
2 SH® WM w1 Buio $9 fem s &)

12251/13,700/KD/1221 12
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| BCE/M-18 12251

FINANCIAL ACCOUNTING-II
Paper : BC-201

T:me : Three Hours] [Maximum Marks : 80

Note

e

1.

13
.

Question No. 1 is compulsory. Attempt five questions in
all. Select four questions from remaining eight questions.

WA e 1 St ?owe ofe ww # I ) W
e T H W TE FFRE AR W ;S| T

Compulsory Question ( 37fard wov)

Explain the following :

(a)
(b)

(©

(d)

(e)

Imprest system of petty cash.

Interest suspense account under instalment payment

system.

Provisions of Partnership Act in the absence of

partnership deed.

Expected net profits of Luxmi Sales Ltd is ¥ 1,50,000.

Average capital invested is ¥ 7.50,000 and expected

rate of return from capital of this type of business is

15%. Remuneration of partners is estimated ¥ 16000

for the year. Calculate goodwill on the basis of 4 years

purchase of super profits.

Distinguish between sacrificing ratio and gaining ratio.
(5x4=20)

12251/13,700/KD/1221 [P.T.O.



F IR T :

(F) T TFg ¥+ W= fFem

(B) fFw o wfa ¢ o=l = s=f @

() FEERl ST W Rl ¥ WRERd sTEw ®
T

(W) @ Tow fafde % & w9 T 1,50,000 STER@
¥ wrEE # efem 9ot 2 7,50,000 # T §R W
FIAE ™ F W 15% T WEER w1 A
% 16,000 e At &1 gW oo # SER 4
7§ F W O F oR W =Y W T %%

(F) M R I a9 Wig | § 71 o7=R 2

What do you understand by Hire-purchase system ? Explain
the difference between

(i) Hire-purchase system and credit sales.

(i) Hire purchase system and instalment pavment method.
(15)

T w7 wf ® 9w ow owwwm ) Frofefme W
HRW &L F:

(%) fFr %7 vgfs 3 3ur fas

(@) fFrn w7 wgfa 9 feve gmm wzf

A head office supplies goods to its Panchkula branch at cost

1
plus wwwﬁo. Branch remit all cash daily and head office

pays all expenses of branch except petty expenses which
are paid by the branch itself. Branch adopts imprest system
of petty cash.

12251/13,700/KD/1221 2

Branch balances on 1st Jan., 2006 :

3

Petty cash 2,000
Stock at invoice price 36,000
Debtors 18,000
Prepaid insurance 960
Outstanding salaries 3,000
Transactions for the year :
Goods supplied to branch 2,20,000
Cash sales 1,50,000
Cash sent to head office 3,15,000
Credit sales 1,70.000
Bad debts 2,000
Goods returned by branch 8,000
Transfer of goods from Panipat

branch to Panchkula branch 12,000
Petty expenses paid by branch 1,680
Insurance premium paid by

head office from 1.4.2006 to

31.3.2007 4,800
Salaries paid by head office 20,000
Stock at cost on 31.3.2006 26,400

Prepare Panchkula branch account for the year ending 31st
December, 2006 from above particulars, (15)

TF YA FEAGE HATH T9He O F OAA AE o
wwwgﬁmﬂﬂﬂw_gﬁmmdﬁnﬁmﬂmﬁ
F OO ¥ EER w@El F oTEE 9 @d gye
FEeE ® 30 fFr W £ 9 wEm wE W § 3}

12251/13,700/KD/1221 3 [P.T.O.



fFr w1 ¥ wEw Iwe ¥ fou YR ¥ g T
foem o W@ R

1 S0, 2006 F R ® e v ¥

3

oY oY 2,000
e @ W we 36,000
TR 18,000
ceaaiio 960
ITE o 3,000
31 femm=R, 2006 F W FTH IA I§ F TH A ¢
T F A ST 2,20.000
TFe fawa 1.50.000
YUH HAAT F THE TS 3.15.000
sur fa=t 1.70.000
YT WO 2,000
v 3 T e 8.000
IR YRET ® YRS Y Wi

e ST T 12.000
e 3 wER =9 @9 fEu 1.620
JUR FEEd 7 1.4.2006 ¥ 31.3.2007

TF o, Wiftgm w1 g e 4,800
JUHR FEEE 7 a9 20,000

TR W@ (31.12.2006) 26,400

INF faEw ¥ 31 FE=R, 2006 F GH@ 'R I 99
% fau d9%en TR F OEE TR W

12251/13,700/KD/1221 4
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Why Revaluation Account and Memorandum Revaluation
Account are prepared, explain with example. Also state the
difference between Revaluation and Memorandum
Revaluation Account. (15)

THEFT @ qe TR HewEA W & §A
R ¥ qTHeEA @ qen wond gEedEd un N
T SR ®? SEEW Wfed S

Prepare Profit and Loss Appropriation Account and partner's
current account from the following particulars :

X Y Z

75,000 40,000 30,000
10,000 5,000 5,000(Dr.)
Drawings 15,000 10,000 10,000
Interest on Drawings 500 190 350

Capital (on 1.1.2000)
Current accounts (1.1.2000)

Profit sharing ratio X. Y and Z in the partnershipis 2:1:1
and interest on capital is allowed 5% p.a. as per partnership
agreement.

No Interest is charged/allowed on current accounts. Interest

of 4% p.a. on drawings is chargeable. The accounts of the

firm showed a net prifit of ¥ 80,000 before taking into

account the interest on capital and drawings and subject to

the following rectifications :

1. Life insurance premium of X amounting to ¥ 750 paid
by firm on 31.12.2000. has been charged to
miscellaneous expenditure A/c.

(0]

Repair of machinery amounting to ¥ 10,000 debited to
plant account and depreciation charged there on @ 20%.

[P.T.O.



3. Travelling expenses of ¥ 3,000 of Y for a pleasure trip 6. P Q and R are partners in a firm sharing profits and losser

to UK. paid by firm on 30th June, 2000 has been in the ratio of 3:2:1. The Balance-sheet of the firm as on
debited to travelling expenses account, (15) 31st December 2007 is as under :
frfafer gamen oS
. HH AR WA kel Liabilities Amount | Assets Amount
T WEER ® AR W@E TR W .
Bills payable 22,000 | Cash at Bank 3,56,000
ﬁ%ﬁ. R X.Y,Z HI-TE F 2:1:1 F SO ¥ A S. Creditors 38,000 | Debtors 50,000
¥ T W AW su W oA fen o ook = @ Less : Provision 3.000| 47,000
W FHE S F OTEEE T F T W 4% W oae @ Bank loan 2,00,000 | BR 37,000
S F1 FEEE B Y, SR $iR we e & faEw Reserve fund 36.000 | Stock 60,000
=y Capital Accounts Investment 50,000
P 2,95,000 Computer 20,000
X Y Z Q 2,22.000 Motor van 1,00,000
4 z z R 1.37.000 6.54,000 | Plant and
ISt (on 1.1.2000) 75,000  40.000  30.000 Machinery 80,000
= @ (1.1.2000) 10,000 5.000 5000(Dr.) Land mwa 0.0
STETTT Buildin 2,00,000
15.000  10.000 10.000 530,000 e 530,000
IET W TS 500 190 150 50,00 ;50,00
o T = P retired on 29th February, 2008 and Q and R continued the
: ¥ @ wHF g @9 T 80,000 partnership sharing profits and losses in the ratio of 3:2. The
¥ = e #1 o QR & S 2l terms of retirement are as under :
. X &1 Sem &@im offedt = T 750 F1 A 1. Provision for doubtful debts to be increased upto
31122000 F TR fEw T e @S § i T 5,000.
& T 2. Stock to be appreciated by 10% and Land and building
by 7.5%.
2. TR w1 RER g =iz § efe
% 10,000 58 == A FX 3. Motor van to be depreciated by 5% and computer by
fe M SR W W 20% ®E T T 15%.
3. Y% UK Trip F 3000 F TI FI, T 30 A, 4. A provision of ¥ 2,400 to be made for outstanding

2000 1 fFT T, A TE F gren T repairs.

12251/13,700/KD/1221 6 12251/13.700 KD/1221 7 [P.T.O.



= 25 FTED. 2008 F FEEW UEw fFW oA Q ¥ R
5. Goodwill of the firm to be valued at Z 48,000 and P's P -w. ) / . N P S
share of goodwill to be adjusted into the accounts of Q s F A F 3:2 § Fafsa w1

and R, . . ™ = ¥
6.  Profits upto the retirement was estimated % 54.000.

7. P takes over the investment at ¥ 45,000 and balance Ty WO ® WEYME 1 SR T 5,000 HT R

amount due to P was paid in cash. L
8.  The capital of new firm will be readjusted by bringing qIT F 7.5% TG 2
in or paying out cash so that the capitals of Q and R 2. W H 0% T w.unn
are in new profit sharing ratio. 3
FTIR % w8
Prepare Revaluation account, Capital accounts and 3. TR W 3% T W 15% T
Balance sheet of new firm on 29 th February, 2008. .
(15) 4 o "owa foe & fAw 2,400 F FEEH H
P,Q¥R R W % WErR & & ow o 30 @ zl
FT W oFed ¥ 31 REmw, 2007 ¥ wE owm frem C.
fra & ) 5. wd W owf W geEE 48000 ¥ R P F
o T = fe ¥ T Q I R ® W H GHETTE FIA T
7 faa 22,000 | ¥F TFT 3,56,000 6. STEN TEW qF AIAE @Y T 54,000 T
TR 38,000 TR 50.000 G
\ N . .ﬂvﬂ
¥F w0 2,00,000| -WEEE  _2000] 47.000 7. L% fafEmi # 245,000 ¥ fom o ¥ W
T FY 36,000 [wr=r fam 37,000 F R TwL fEE T
TS = wfen 60,000 . I
P T F YN W TRE H A T
P 295,000 Frr 50,000 5. T FE R &
Q 222,000 F 20,000 T T fFE em e Q ¥ R #
R 1.37.000 6,54,000 | FIR 1,00.000 WO § O# S
e q 80,000 . . . 5
S N , 2008
. T @A, S @ a9 29 wEd
3 2.00,000 7w w e
9,50,000 9.50,000
12251/13,700/KD/1221 9 [P.T.O.
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7. Amit, Sumit and Lavanya are partners in a firm sharing profits
and losses in the ratio 2:2:1. On 31.12.2015, they agreed to
dissolve the partnership. On this date, their Balance Sheet
was as follows : Prepare necessary accounts to close the books of the

firm. 15

whm =i ok wEva wnER ¥ o AW wE et @

‘L.

Creditors of firm agreed accept 10% less.

th

Realisation expenses amount to ¥ 1,800 met by Sumit.

Liabilities Amount Assets Amount

Creditors 35,000 Cash in hand 24,000 > . oy & A ==
10% Bank 1 50,000 Bill ivabl 25,000 2 ¥ VI OE # umg 2015 %
¢z Bank loan , ills receivable . i = B W foram T fof
Amit's wife loan 20,000 Debtors 46,000 - -
=E T oE
Reserve fund 48,000 Stock 80,000
Patents 10.000 Liabilities Amount | Assets Amount
Profit and Loss A/c 15,000 Investments 60,000 Creditors 35.000 | Cash in hand 24,000
Capital A/cs Machinery 1,20,000 10% Bank loan 20.000 | Bills receivable 25,000
Amit 2,00,000 Building 1,20,000 Amit's wife loan 20.000 Uogoﬁ 46,000
Sumit 1,76,00 Current Account : Reserve fund 48.000 | Stock 80,000
Lavanya 1,00.000 4.76,000 Amit 5,000 Profit and V2 loss A ¢ | 15.000 | Patents 10,000
Current A/cs Capital A/cs Investments 60,000
Sumt 10,000 . Amit 2.00.000 Machinery 1,20,000
Lavanya  16.000 26,000 Sumit 1.76.00 Building 1,20,000
6.70,000 6.70.000 Lavanya 1,00,000 {4.76.000 | Current Account
1. Sumit agreed to take over the business (except cash) at Current A/cs Amit 5,000
the following valuations : B/R 23,000, Debtors 41,500, Sumt 10.000
wﬁ_o% mmbﬂow wﬂwmmwa 3,500, Machinery 1,35,000 and Lavanya  16.000 26.000
mee e 6.70.000 6,70.000
2. Amit agreed to take investments of face value ¥ 35,000

in full settlement of his wife's loan and remaining | 2 S 5o = o8 ®

investmnts sold @wwq\.@ a_mooc.:ﬂ.. S ® T T R € 23,000, ; % 41.500,
3. Bank loan was repaid alongwith interest of one year.

12251/13,700/KD/1221 10
12251/13,700°KD/1221 11 [P.T.O.
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BCE/M-18 12252

MACRO ECONOMICS
Paper : BC-202

Time : Three Hours) [Maximum Marks : 80

Note :

Attempt five questions in all. Question Number 1 is
compulsory. each part carrying 4 marks. Attempt four
questions from the remaining 8 questions carrying 15
marks each.

FA W WA F OIW ¥ OWH W& 1 e §
TIF 9N 4 FF FT X VY NS YA ¥ ¥ WR T
F, UIF WH 15 FF FT B

1. Answer of each of the following short type questions should
not exceed one page : —

(a)
(b)
(c)
(d)
(e)

Discuss the oo:\o.mma of macro economics.
Define briefly the concept of national income.
What is autonomous investment?

Discuss the principle of acceleration.

Explain four main causes of inflation.

frefafas &% et 79 1 IR ™ W ¥ S| o
& T =fEu .
(F) Tufte. AT FT oRoN =] o =T

(@) T 33 F 9w F7 i moir a

(M T=fea fEw 9 F= gy 77

12252/1

3.500/KD/1235 [P.T.0.



() = fog@ w1 3ol w1
(F) PRI & R T&A FR F a0F F

What do you mean by circular flow of income ? Explain
with the help of a four sector model.

HE H UHT WEE W A T NS B WF IR &

oiesl % WeaH ¥ FEEREC

Explain psychological law of consumption and give its
importance.

IUGT F WASETE W qen TE 1 gve Y

What is multiplier? Explain its forward and backward
working.

T ¥ oF afg ' TE AT oA 9w w O
TOTSA! FHT FOH FI

Discuss the Keynesian theory of income, output and
employment.

T ¥ AE, IO JY TR 9 #1 I FW

How equilibirium GDP is determined in a closed economy.
Explain.

TF G AfERen ¥ Aqfem ELd. w1 fAufor #9 em
22 Tl w

Explain the causes and remedies of inflation.

HEEFIfd & FROT A ITEHRI T FE F ITE F FUA
F

12252/13,500/KD/1235 2

12

Explain Hicks theory of Business Cycle.
fem = = oww 5l ow ol

What is investment? Explain the methods of stimulating
private investment in an economy.

few g 7 afwg 27 = sdsyaxen § frst fewr w5
T W I T0F F IUH FHIfAT

52/13.500/KD/1235 3
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BCE/M-18 12254

E-COMMERCE
Paper : BC-204

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 js
compulsory.

1. Compulsory Question

Answer all the following in short :
«(a) Differentiate between Data and Information.
é&\ Write four uses of Internet in Business,
(c) Write the full form of the following :
MIS, TPS, B2C, EDI.
(d) Name two Internet Service Providers and two Browsers.

(&Y" Name four E-Governance initiatives taken by

Government.
(4x5=20)

2. Define Internet and its application in E-Commerce. 15
3. Define Information and write the types of Information.

Discuss operations that can be performed on Information.
15

12254/13,450/KD/1042 [P.T.O.

4.  Define MIS, its principles, characteristics and design. 15§

5.  Define Information Technology and its impact on Business,
15

6. What is EDJ ? Write its benefits and implementation. 15
7. Explain E-Commerce models with their applications, 15

8. Why Security is so important in E-Transactions ? Explain
security concerns in E-Commerce Transactions, 15
9. Write notes on the following :
(@) M-Commerce.
(b) E-Governance. ' 15

Smmh\akmo\ﬁ@:onm 2
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BCE/M-18 12253

FUNDAMENTALS OF MARKETING
Paper-BC-203

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions. Question No. 1 is compulsory.

e : FF ulw T F WA FEA 1 AFEE R

Compulsory Question ( 3tfamd wew)

1. Answer in brief :

(a)

(b)
(©)

(d)
(e)

Differentiate between consumer and Industrial Products.
4

Write a short note on Global Marketing. 4

Difference between Traditional and Modern concepts
of Marketing. 4

Discuss the methods of Promotion. 4

Differentiate between Sales Mgt. and Marketing Mgt.
4

Heg # I e .

(F) Tovie S R Sl 3R § eTR F:fwa)
(@) fvaw fogom | o e fEfe)

() TR TE TR fguvm faEmem H sRR W

Eai ey

() ST w1 fafr= fafual = =mem s
(T) o wEy T8 fAUUR wEy H #RR RIS

12253/13,500/KD/1257 [P.T.O.



Define Marketing. What are its objectives ? Explain its
(3+6+6)

faaum =t sftam few faoom & = SRR ¥ onyfrE
=aaE Wi ° fguvm # wEw 1 s s

importance in modern business world.

What do you mean by marketing Environment ? Describe
its various components. (3+12)

fooum AR ¥ A9 = wEEd € fAYvm s #
faf= wewi #1 = TS

Define the marketing Management. Explain objectives and
various functions of Marketing Mgt. (3+4+8)

faoom vy w gfenfe wifsw fFoom wEy % fafas
LI 9 WG H ST RIS

What do you mean by Product life cycle ? Explain its various
stages. Is there any utility of it to marketing manager ?

(3+8+4)
IR WET wF ¥ oMY F uHed 7 e fafy= =
F TRA FIGU T WH! TR oA F fAw
ST #7

What is consumer behaviour ? Discuss the importance and

difficulties in understanding buyer behaviour. (3+6+6)

ITNRT SHEER ¥ ®? IUNSN TR $ WEEd aen
TE A w Flemea 1 faEEwm Fifw

12253/13,500/KD/1257 2

QQ

What are the objectives of market segmentation ? What criteria
are used for Segmenting Consumer market ? (6+9)
FoR faufEet # SiYE w0 ¥ IUET OSOW &
faufareo @ % fom A oy =1 wom fem =
e PRI

What do you mean by Promotion Mix ? Explain the main
components of Promotion mix. (3+12)

Tggw fagm § o T oEEme ¥ Wadw faywm w
fafy= s 1 =mren wifs)

Define Distribution channel. Explain its various types.
(3+12)

faar mem %1 wffye wifgw oo @em % fafvs
FEaniicalioiicficals

12253/13,500/KD/1257 3



(M) FF-8 7R § S F sare ofuwas T 22
() [ & 7EA F 57 el § 9 7 w19 Ssord
F 25% ¥ afusw feewm B 27

12255/12,450/KD/1535
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Roll No. i

Time : Three Hours]

BCE/M-18

BUSINESS MATHEMATICS-II
Paper : BC-205

Total Pages : 8

12255

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

e : F@ e W % SR AU wE vem w sitee

2l

1. Compulsory Question ( 37F@E™ wWyv)

(@) If °P =2.°P_, find r.-

H 2r
(b) Find the rth term in the expansion of T + Iu .

(¢c) Solve x + 4y > 8 graphically.

X

4

4

(d) A man has 7 friends. In how many ways can he invite

one or more of them to a party.

(e) Represent the following data by histogram.

4
4

Marks

0-10

10-20

20-30

30-40

40-50

50-60

60-70

Number of
Students

10

20

25

10

(F) 3R *p =2.P_ , ¥W FfSQ

(@) m

+ —

1
x

12255/12,450/KD/1535/Trans.
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() WFFA TU x + 4y > 8 F1 T FIfoQ

(N TF A F 7 39 & @ T4 9w A AUF
F fra 70F ¥ 98 T oG ¥ HFal ®7

(®) femmm g freAfafes siwel #1 w=g@ Fifsu

AqAF

0-10 } 10-20|20-30 [30-40|40-50] 50-60|60-70

BT
q&A

1

(o]

10 20 25 10 8 5

2.

12255/12,450/KD/1535

(a) How many three digit numbers can be formed by using
the digits
(i) 1.3,6, 8
(i) 0,2,3.6.8
when the digits may be repeated any number of times ?
(7V2)
(by If "C, ,=36,"C, =84 and "C, =126, then find 'C,.
(7V2)

(%) f= st F1 SwEm FE fFa 3 & w1 §Em
I W TEFA €
G 1.3,6,8
i) 0.2, 3,6.8
W9 o F R A W FE AR e S w87

1t

(@A 'C,, =36."C =84 R "C, =126, T 'C,

Eicle s

,

9

3. (a) Find the value of a so that the term independent of x in
a 10
Vx+—| s 405, (7%)
(b) The co-efficients of 5th, 6th and 7th terms to the
expansion of (1 + x)" are in A.P. Find n.
10
(F)a F AA T B AqAF | Jr+—=| H o H
X
WIT = 405 B
(@ AP. ¥ (1+x)" # fomr & sa, oaf &R 78 w=
F ONE B on T EI
4. (a) Find the solution set of the system of following linear
inequations graphically : x + y <6, x 21,y 2 1. 5
(b) Solve the following L.P.P. graphically using corner point
method :
Maximize Z = x + y,
subject to the constraints
2x=y+120,x+y<3,x<2, x,y20. 10
(F) MirFa &9 ¥ Frafafes Yos gfwot § yome
F G WS T RN
x+y<6,x21,y21.
(@) FR dzz fafw =1 sm F== wfrws w9 9
frfafes LPP. # w@ =ifew
AUFTHZ =x + y,
T fF AT 2x -y + 120, x+y<3 x<2,
x,y20.
12255/12,450/KD/1535 3 [P.T.O.



5.

7.

Old hens can be bought for ¥ 2.00 each and young ones at
T 5.00 each. The old hens lay 3 eggs per week and the
young ones 5 eggs per week, each egg being worth 30 paise.
A hen costs ¥ 1.00 per week to feed. A man has only
¥ 80.00 to spend for hens. How many of each kind should
be buy to get a maximum profit per week, assuming that he
cannot house more than 20 hens. 15

W O T 2.00 WA R WG W wwer € iR ogm
500 TOF W T W T # [ g v v
3 R & ¥ SR T o5 R Wiy T 3 R, vEw o
F FHT 30 W H @ T F @R oEE € 1.00 WA
T TE o B ww o # R wd v @
fon Few T 80 W www B W gwme sfumem @
TE T P A S® fEe ot wied =fen, 7' we=R
g fF 9% 20 ¥ fvr gfiflel & fog = o 51 T
2l

Distinguish between primary and secondary data. Explain
the various methods of collecting primary data. 15

TufrF SR IfadaE swel ® W9 ewR wifww wofhE
3 F THE T & fow = wiet #1 = wifeu

(a) Construct a pie chart for the following data :

Subject

English | Maths | Physics | Chemistry | Economics | Commerce

No. of

Students 45 60 20 30 10 15

(7%2)

12255/12,450/KD/1535 4

(b) Represent the following data by percentage sub-divided

bar diagram :
Subject No. of students | No. of students
(in '000) (in '000)
(2015-2016) (2016-2017)
Statistics 25 60
Political Science 40 84
Economics 35 56
TVa
(F) Frefafen <o & fag o = Sam #fvw
fowg e | v | dfew | wEm | sdwves | e
o | faam
B HT
weE 45 60 20 30 10 15

(@) Yo Sufawfsm sR sm@ g f= 22 &t 9y

fawa BE W WS | BT W WA
('000 H) ('000 H)
(2015-2016) | (2016-2017)
wifert 25 60
Toifaes faam 40 84
EEhic 35 56

8. (a) Define Commulative frequency curve and explain its

types.

12255/12,450/KD/1535
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5
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5.

12

(b) Draw a ‘less than ogive’ and ‘more, than ogive’ curve

on the basis of data given below : 10
Marks 0-5[5-10{10-15]15-20 | 20-25|25-30|30-35|35-40
No. of
students 31107 20 30 20 9 5 3

(F) g9t s % w fwfeg Fifag qon @ TR

T @ FINT

(@) 9 Gy aFwel & oum W ‘s ¥ w ek
‘semee @ ofuw’ TF w oifwd HT

F

0-5[5-10

10-15

15-20

20-25

25-30(30-35

35-40

o
H &

10

20

30

20

9 5

9. Study the following table and answer the questions given
below it.

Production of sugar by six major production units of India
(in million tonnes) :

Production Units

Month A B C D E F
April 310 180 169 137 140 120
May 318 179 177 162 140 122
June 320 160 188 173 135 130
July 326 167 187 180 146 130
August 327 150 185 178 145 128

12255/12,450/KD/1535

6

(i) Which unit shows continuous increase in production
of sugar over the months ?

(ii) In the case of Unit E, in which pais of months the
production of sugar is equal ?

(iii) In which month the production of sugar is maximum ?

(iv) In the month of June, which units have a share of more
than 25% of the total production of sugar ? 15

frefafaa afes #1 seggs &t ok 9= o ware =
s Fife
IRE F D: WFE SEEA FHEEA BN WM W SRA
(g =F ")

Production Units

TEA A B C D E F

E il 310 | 180 169 137 | 140 | 120
Lo 318 | 179 177 162 | 140 | 122
A 320 | 160 188 173 | 135 | 130
NSl 326 | 167 187 180 | 146 | 130
T 327 | 150 185 178 | 145 | 128

(F) FF-T1 TFE TEA § 99 @ S ® R gfg
T 22

(W)E TFE & AFa ¥ SMA-¥ 2 WEA A SH w
IMEAE SO B 82

12255/12,450/KD/1535 7 [P.T.O.



WA FART
(F) Getch() a1 getchar()
(@) Putch() T putchar()

() \tTq \b HFTFH

8. (a) Create a structure data type for date formate (dd/mm/
yyyy) and write a program in C-Language to input and
output the data. 8

(b) Define a two dimension array A [5][5], Its declaration,
type and processing in C-Language ? 7

(F) T WS (dd/mmiyyyy) F T TF T ITE WA
7 faffa #f T 91 C-FF9 ¥ T F TIE 99
ey % fou ww wnmw fafag

()T e gt A [3][5]. THHI WWON, TE q
C_dEs o gefg #1 gRefya sl

9. Explain with example :
(a) Union data type.
(b) A data File.

(¢) A File transaction. (5,5.5)
JEELT G T F I
(%) =7 = 2Eh

(@) T = FEAl
() TF WA ARH-NEA

12267/1,200/KD/1564 4

ROIINO. i Total Pages : 4

BCE/M-18 12267

PROGRAMMING IN C
Paper : BC (VOC)-2035

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. I is
compulsory.

Fz . F@ Ul T T IR AU W FEm | A g

1. Compulsory Question (& we)

(a) Write rules for naming variables in C-Language.
(b) What are the functions of header file <conio-n> ?

(c) Differentiate = (arithmetic assign to) and = = (relational
equal to) operators.

(d) Write logical operators available in C-Language and their
Precedence Order.

(e) Explain fopen() and fclose() functions for opening and
closing a file. (4x5=20)

(F) C-Fras ¥ =0 % TIFm & fraw w fafaw
A.@v.wMA A <conion> F T FE 2

(M) A T2 F I IR TR ;= crithmetic assign o)
%,_A = = (relational equal to)!
12267/1,200/KD/1564 [P.T.O.



(F) C- oo 7 ORE AfFFea s 99 3% g
F19 #1 fafeu

(¥) TF w=a F1 GeW a9 9w F fom fopen()
T felose() F1 THRT

2. (a) Write important fteatures of C-Language. 7
(b)  Define basic data available in C-Language and their
space requirement for storage ? 8
(F) C- Tas F1 wewrol favmam forfan)
(@) C- s & Iyefed Af9F T TRy o o F
U 7% w9 qeveEs F R Eaieay
3. (a) Differentiate pre- and post-order increment (++) and
decrement (- —) operators in C-Language. 8
(b) Write a program in C-Language to check year either a
leap year or not ?
(F)C- =9 & W- a1 9Re-om efFde (44) Ao
fefFde (--) # = F®m Ta=y
(@) C- e & U v fafan, o st w1 5% o
FE Y, & 7 ¥, J T
4. Explain the following with syntax :
(a) goto statement.
(b) while loop.
(¢) size of (). (5%x3=15)
12267/1.200/KD/1564 2

fafafaa =1 foesm wfeq =9emu .
(F) goto BZH|

(@) while loop.

(M () F H\ES

(a) Write a program to generate even numbers 2, 4. 6, e,
100 using for loop. 8

(b) Explain do-while loop with an example. 7

(F) ®R T (for loop) F ITAN ER HT TN 2. 4, 6,
e, T WG FA F FAC T Fafan

(@) TF 3TREW ENM do-while loop F! THHART

Explain the following :

(a) x and & pointer operators.

(b) Pointer arithmetic.

(¢) Pointer to pointer. (5x3)
WL FT

(F) » TN & TEX FRTY

(B) TR HAFMOT|

(N R ¥ "X

Differentiate :

(a) Getch() and getchar()

(b) Putch() and putchar()
(¢) \t and \b sequences. (5%3)

12267/1,200/KD/ 1564 3 [P.T.O.
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il

0.

Attempt five questions in all and question no. | is compulsory.

Compulsory question

a) Write any four important features of presentation soltware MS power- puml
b) Ditferentiate a template and o wizard®

<) What 1s difference between Undo al ui a Redo command of MS-Wir®

d) Define a cell, absohie address and relative ade fress?

Ny Explain managing of files in MS-office sottware?

) Elaborate in detail of MS Power Point,

) Shide forma ting

¢ Master slide

A Shides transition

a) \\"‘:n are various objects that can be inserted in « BOVWC PO proscrti o
5% Elaborate a slide sorter view in detuil?

Discuss the fllowing with Speci o a DY ol e

Ly \‘J)u.ul,{.{ chenker

i} Global Search and replacenient

o) Prin ond Frint preview com niand

2 What s miail moerge feature in MSSWonrd” §ion e S e
and wn erivelope?

) How e buarders are added in document in Ms-\Word

@) Flow do vou ereate a formuta in 4 spreadshect? Give one crampie ol vach ivpes
formula?

h) What is the role of macro i spreadshect? Disegss HS recordine e

Discuss e lollowing in MS-Excel:
i) Cell Range
by Auto Fill 'y cility

¢) Data types available in MS-Fxcel

a) Describe various wmpmmnt\ of M% Fxeel windeow g0

b) Explain any three types of charts and Ihut used i MS-Exeel?

aj How the data entry activity in carried out in o business? Discuss e Mo e

by ‘Data Analvsis' is vital for any business? Discuss it how?

[

4
~
‘s
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BCE/M-18 12269

SHORTHAND (ENGLISH) THEORY
Paper : BC-205

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory. Attempt five questions
in all.

1. )
(i1)
(1i1)
(iv)
(v)

Write short note on Evolution of Shorthand.

Write the importance of Shorthand in Modern age.
How many consonants in Shorthand write all.

How many long vowels in Shorthand write all.
Write five upward stroke in Stenography. 20

2. Fill in the blanks :

(a)
)
(c)
(d)
(e)
(®
(8)
(h)
()
()

P is Employed to Represent ...............

B is Employed to Represent ...............

T is Employed to Represent ...............

D is Employed to Represent ..............

CH is Employed to Represent ..........

J is Employed to Represent ............

K is Employed to Represent .............

Kr is Employed to Represent .................

g is Employed to Represent ..................

f is Employed to Represent .............. 15

12269/250/KD/1639 [PTO.



How we take notes in Shorthand write the method of note

taking steps in Shorthand. 15
4. How are the intervening vowels indicated in the Hooked

Strokes ? How are they separated from the hooks ?

Give Examples. 15
5. Write any 20 words of Advanced Pharaseography. 15
6. What is Suffix ? Give outlines for the following :

(a) Wording

(b) Paying

(c) getting

(d) doing

(e) Painting

(f) being

(g) Meeting

(h) barbarity

(i) Training

(j) drafting. 15
7. What does a loop represent ? Give examples of a small and

big loop initially, medially and finally. 15
8. Define a Dipthong and Tripthong and illustrate their use

in Shorthand. 15
12269/250/KD/1639 2

9, Fill in the blanks :

(a)

(b)
(©)

(d)
(e)
0
(8)

(h)

@

®

If the circle is enlarged and joined initially with a simple
stroke, U represents the double consonants ...........

Medially or finally the large circle represents .............

The sound of U initially is always represented by the
Stroke .......eo

Stroke can be joined together without ................
Initial R when preceded by a ..................
R is written upward followed by a ......cccccnee.

Initial circle is read ................ and final circle is
read .....cooveeee

When two consonants immediate follow each other,
they are called .............

The curved strokes are doubled for the addition
of ... eerevenn

The contraction is an abreviated word having more
than .............. stroke. ‘

12269/250/KD/1639 3
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BCE/M-18 12270

LIFE INSURANCE-II
Paper-BC-205

Time : Three Hours] [Maximum Marks : 80

Note : Question No. 1 is compulsory and each part of it carries
4 marks. Attempt four questions out of the remaining
questions carrying 15 marks each.

qAE ;. T FEw | fed R Toe T 9m 4 o
F ¥ TR T LW WA H ¥ WR AR W F
TEF W 15 3H w1 R

Compulsory Question ( 31fard w9T)

1. Write down 1-2 pages notes on each of the following :
(a) Main benefits of a Life Insurance Policy.
(b) Term Insurance.
(c) Eligibility for becoming Insurance Agent.
(d) After sale services to Life Insurance Policy Holder.
(e) Life Insurance Annuities.

frefafes 4 @ &% W 1-2 99 w1 e fofeu .
(F) TF Soa wffedt & qEm oy wmoE?
(@) safy &
(M) ¥ Aywa = w fAw gEen
(%) Sem difeet o % fog o) St # = w)
(¥F) wam & aifvest

12270/250/KD/1305/ Trans. [P.T.O.



2.

Describe various types of Life Insurance Policies by giving
their features and applicability.

e S offeet w fafa= vl w se e fawreane
AR T T g I

3. Discuss the meaning and method of calculating Surrender

Value of an Insurance Policy. What are the various forms of
payment of Surrender Value ?
TF o et ® gEen ged 1 0 % e ofR fafy
#F1 foge=m wifvw T9in 9@ ® gR % 5 w5
N E?

4. Write short notes on:

(a) Methods of payment of Bonus.
(b) Valuation of Life Insurance Fund.
(¢) Rules of Agency.

frefafea w wfaa ool fafex .
(F) A" & e F fafy

(@) stea i fAfa =1 gearEa)
(M T o fram)

5.  What are functions of Insurance Agents ? Explain code of
conduct and remuneration rules about life insurance agents.
o afwwdist & w1 F=n ¥ Sew 9\ sifwwatet @
IR B weRw wfem iR wRgtre fER w5 s
HITT

12270/250/KD/1305 2

6.

Write down functions and code of conduct for brokers,
surveyors and corporate agents.

Toel, FagE R Fhie W # fau w1 ik smEw
gfem fafeu)
Explain the information that must be containd in Proposal

Form for Life insurance. Also give outlines of the information
given in Policy Documents.

e & F A v 39 d SReR S wfae w)
I e w7 orem wifsw A cwRs F @ T
TAE H TRE f FaEu

Explain mode of buying Insurance cover for life. Also
explain claim settlement procedure in Life Insurance.

Taq % fau i v @i w1 fafu =1 =men ifew
Sem & ° gen fruem wtEe w5 oY =mren wifsu

What are the qualities of an Insurance Sales person ? What
type of training is required for becoming a good Insurance
Sales person ?

wF wm faE =R o o oW 8w o diw =te
T ¥ fou frg aw % whew W oevawa €7

12270/250/KD/1305 3



9. What are the benefits of Health Insurance Plan ? How to Roll No. ., Total Pages : 4

choose a good Individual Health Insurance Plan ?

wren AW OGS F A w8 T =S SR
e I TS FowgT R 9 22

Note :

RICAE

BCE/M-18 12271

GENERAL INSURANCE-II
Paper : BC(VOC)-206

Time : Three Hours] [Maximum Marks : 80

Question No. | is compulsory and each part of it carries
4 marks. Attempt four questions out of the remaining
questions carrying 15 marks each.

ToR G 1 e ®, THE TEE 9N WR SE H
2 Y9 YA ¥ ¥ AR W # IR AT, T=w w9
15 3% &1 B

Compulsory Question ( 3@ Wo=)

1.  Write down 1-2 pages notes on each of the following :

(a)
(b)
(c)
(d)
(e)

Significance of General Insurance.
Product Liability Insurance.
Aviation Insurance.

Reinsurance.

Insurance.

fm g3 @ W12 ™ % e fafen:
(F) 9= W F HEE|

(@) I T S

(M) famrm &

(%) qEET
(F) s

12271/250/KD/1313 4 12271/250/KD/1313/Trans. [P.T.O.



Briefly explain the working and performance of General
Insurance Corporation of India.

T SRS TN FTOReR ® w ok wavl wd
Y9 ® e Fif

Describe the various types of risks assumed and specific
policies issued by General Insurance Companies.

fof= 7R # wfem Sfem 7o Ie e TR
U SR favtw et @1 eofw i

Explain the Claim settlement process in Motor Insurance.

g%mﬂggﬂﬁg%_

Describe the need for Project and Engineering insurance.
Also explain what type of covers are available in Project
insurance.

wfEem R TS T W eevawa %7 vl
FINT wREeA F H R vER ® w sy ¥
W ft = wif

Write notes on the following :
(a) Director's and Officer's Liability Insurance.
(b) Employers' Liability Insurance.

(¢) Public Liability Insurance.

12271/250/KD/1313 2

= w femfret fafen .
(F) Frvet ok stfumf 2 25 <)
(@) e =1 afee &
(M) wrefEtE g S

Who can insure a General insurance policy ? Explain the
documents required for general insurance.

TF gE= i ofest # o w9 ow gwa £ 9w
N F fu sTEvaE TEESt w smen i)

What is the need and potential of Rural Insurance ? Also
explain the suitability and salient features of the following
Rural Insurance policies :

(a) Cattle Insurance.
(b) Failed Well Insurance.
(c) Fish Insurance.

(d) Plantation/Horticulture Insurance.

T W T EvEa ok ama W ¥ Frfete
T S dfefeE ) STgE ok Ten fawaed &
ft = St .

(F) 7o &

(T) fawer et e

(M et

(%) FERoyERTarT =)

12271/250/KD/1313 3 [P.T.O.
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BCE/M-18 12272

MARKETING COMMUNICATION-II
Paper-BC (Voc)-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

compulsory.

AT : FA AT WA F SW I YE FEw | A R

1. Compulsory Question ( 3Tfard wyT)

Write short note on the following :

(a)
(b)
(©)
(d)
(e)

Limitations of Sales Promotion.
Advantages of Personal Selling.
Importance of Marketing Communication.

Z@mi:.m of Integrated Marketing Communication.

L S e

Point of Purchase Advertising.

fm W e T fag .

(%) fowa "adm w1 @EE)

(@) Fafmes fora & @9

(M TR =R+ "

() TFFa farom T=9r & e
(T)FT 3 ¥99 7 WH W

12272/300/KD/1289 [P.T.O.



What do you mean by marketing communication ? Explain
various methods of marketing communication. 15

foqom WER @ oMU wn atyug 27 fyyvm wER s
fafe= fafiai =1 =@ =¥

What is advertising ? Explain the main characteristics of
advertising. 15

foamm = 2?7 AT w7 g faast w1 sren

What do you mean by public relations ? What are its main
tools ?

T OEE W T AR R e g §dw
&7

Define Personal Selling. Describe the process of personal
selling. 15

ot faga w1 wRafm =X SofRs faws =1 ¥
T FgUH H

Explain different methods used for sales promotion. 15
foFa Toa o gam w1 9 oo fafy= fafwm #
= F

How will you set the targets in marketing can be adopted to
achieve there targets ? 15

I fqmm TR ® wgE w5 w9 fuif| w97 W A
F Wtg ® v w=m wEfE o W owwd #2

12272/300/KD/1289 2

8.

What is the importance of Integrated Marketing
Communication ? Explain its various tools. 15

TFFA IR TER F Hew ¥ 87 WS fafve W
H IRAT TR

Explain the difference between advertising and personal
selling. Under what circumstances advertising is more suitable
than personal selling ? 15

foa e Safew faeg § o Tw wY) e it
A foam Sofms fowa @ afvs st 22

12272/300/KD/1289 3
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Time : Three Hours]

Total Pages : 2

12273

BCE/M-18

CREATIVITY IN ADVERTISING-II
Paper : ASPSM-BC-206

[Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.

Candidate is required to attempt four questions from
remaining eight questions.

Compulsory Question

Write short notes on :
(a) Discuss the characteristics of a good slogan.
(b) Rational appeal in advertising.

(¢) Differentiate between identification marks and closing
idea.

(d) When negative headlines are used?

(e) Transit advertising. (5%4=20)

What is creativity? Discuss the creative design process.

Discuss various types of illustrations used in advertising. What
purpose it serves? ‘

Discuss the role of emotional appeal in advertising. In what
ways it can be used? Illustrate with the help of suitable
examples.

12273/300/KD/1043 [P.T.O.

Write notes on :
(a) Topical ad copy and

(b) Message content.

6. How internet has replaced other mediums of communication?
What steps are involved in designing internet ad-copy?

7. Discuss the role of illustrations in ad-copy. What types of
illustrations can be used in ads? When illustrations can be
used?

8.  What do you mean by slogans/jingles? What role slogans play?
List some popular slogans of any five popular brands.

9. By taking the examples of different brands, explain the types
of headlines used by them in print ad copy.

12273/300/KD/1043 2



C 60,000 C' Drawings 20,000
D 30,000 [ 2,50,000

6,00,000 6,00,000

The partners share profits and losses in the ratio 2:3:3:2.
The positions of partners was as follows :

Private Estate Privae Liabilities

3 3T
A 1,00,000 1,50,000
B 2,00,000 60,000
C 50,000 40,000
D 80,000 90,000

The assets realized ¥ 2,70,000 and expenses of dissolution
came to ¥ 10,000. Prepare ledger account giving effect to
the distribution.

IR TG-TH F 2:3:3:2 F IR F A ¥ GERR
F1 feofs 50 TER o

st weafaat st oo

4 4
S 1,00,000 1,50,000
9 2,00,000 60,000
9 50,000 40,000
g 80,000 90,000

Tofed § T2,70000 ®1 FHEN T AW TR =
T10000 U EYIF WW TAR HIT

12274/6,900/KD/96 8
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BCE/M-18 12274

ADVANCED FINANCIAL ACCOUNTING

Paper-BC-201

Time : Three Hours] [Maximum Marks : 80

Note :

e

Attempt any five questions. Question No. 1 is compulsory
and answers to each part of Question No. 1, should not
be more than one page.

FE U Y O TR TEw | oftEd € fyos
TEE 9 F TN TF T ¥ RO oA

1. Compulsory Question ( atfrard )

(a)
(b)
(c)

(d)
(e)

Write a short note on Inter Branch Transactions. 4
What is Installment Payment System ? 4
What do you mean by Profit and Loss Appropriation ?

4
Explain role of Hidden Goodwill in partnership. 4
P and Q are partners sharing profits in the ratio 7:5.
They admit R into partnerhip for 1/4 share who pays
¥ 30,000 in cash for goodwill. P and Q decides to share

future profits equally among themselves. Pass entries.
4

(%) Ens # AT TH-3 W s e fafau

(@) frva gmm wgfa 79 wes &2

(M) T9-TH FOREeE @ ¥ T e 2
12274/6,900/KD/96 [P.T.O.



(%) WG § ety ® gfe a

@vﬂﬁﬂwﬂﬂﬂww%ﬁﬁmmﬁﬂﬂﬁ
%%%ﬁ%&mimﬁ%gﬂﬂﬂd
mﬂﬂmﬁ_ﬁn%ﬂgmwobooﬁ
wran fafeat wif

2. What do you mean by dependent branch ? What are the
rules for making accounting records of dependent branches ?
15
Hem W@ W wn v ¥ fm wmEet § wehi
TEFT FEER F A FH F e gm0
3. Goods are sent by the H.O. to the Branch at selling price
which is cost + 25%. All expenses of the branch are paid by
H.O. All cash collected by the brach (from customers and
from cash sales) is deposited to the credit of H.O. From the
following particulars prepare Branch Stock A/c, Branch
Debtors A/c, Branch Adjustment A/c and Branch P and L
A/c in the books of H.O. 15
Particulars 3
Debtors on 1.1.2009 12,000
Debtors on 31.12.2009 14,000
Stock on 1.1.2009 (Invoice price) 16,000
Stock on 31.12.2009 (L.P.) 17,000
Cash Sales during the year 60,000
Credit sales (20% more than cash sales)
Total amount deposited in the H.O.
Account during the year 1,27.000
12274/6,900'KD/96 2

Goods returned by Branch to H.O. (Invoice price) 5,000

Expenses paid 10,000
Discount allowed to customers 2,000
Bad debts written off 1,000
Abnormal (Spoilage) 2,000

TS FETE W O W R T W, W @
+25% ¥ W U 4w W ¥ W ¥ §um =d W
YT J&7 FEed 30 fFa s #1 o # oy wEe
dﬂﬁﬁﬁ@ﬂmﬁwﬁﬁ_m@%%%
q S F e # Frefefem R @ v wiE @
M@ TR G, IR RS @ U Y Se-E

IEE 4
TR (1.1.2009 W) 12,000
TR (31.12.2009 W) 14,000
i (1.1.2009 W), F5w 3o 16,000
TR (31.12.2009 W), S g 17,000
Y F I TR faEy 60,000

SYR fawg (T fawa ¥ 20% )
P W T FEe @R A T AR 127,000
TRET 7 WHR FTEfEE F1 A 9m9S R

(9T g79) 5,000
=41 1 Jram e 10,000
TEH F1 g h 2,000
ERREERICLISiicolicay 1,000
STHHAE (TFEH) 2,000

12274/6,900/KD/96 3 [P.T.O.



Star Ltd, sold 3 cars for a total cash sales price of ¥ 3,00,000
on hire purchas basis to X on 1.1.2003. the terms of
agreement provided for ¥ 90,000 as cash down and the
balance of the cash price in three equal installments together
with interest at 10% per annum compounded annually. The
installments were payable as per the following schedule :

First Installment on 31.12.2004
Second Installment on 31.12.2005
Third Installment on 31.12.2006

X paid the first installment on time but failed to pay thereafter,
On his failure to pay the second Installment Star Ltd.
repossessed two cars and valued them at 50% of the cash
sales price. X Charges 10% p.a. depreciation on Straight line
method.

Prepare necessary ledger accounts in the books of X, 15
1 Sad. 2003 ¥, ®R fo. 7w w5, frra w9 umhy
W 3 FR &=, o @ e g T 300000 oM v
% AER T 90,000 T R T g w9 A
TH = wE fevd 9 10% Sif¥® s wfem e
ST el fEYE T@ WER ¥ ooff .

g9 fFEE - 31.12.2004 W

fefa feve - 31.12.2005 ™

Ta fFvd - 31.12.2006 ™
ﬂﬁwnﬁg%ﬁﬂﬂmﬂﬂ@ﬂjﬁﬁﬂ,
mﬂ;ﬂwmﬂwmﬁﬂﬂ_aﬁmwﬁaﬁﬁaﬂm
FHd T W wR A Y D w0 R A ohmR N o
fem aon v TEEET TR T ® S0% W R T

12274/6,900/KD/26 4

T @ @\ fafy 9, 10% affEs $ freoam ¥ wg
T ¥ T W TR W Oed § oEwE @
AT

5. Write notes on the following :
(a) Characteristics of Hire Purchase System. 6
(b) Accounting treatment in case of repossessed goods on
default. 9
frafafes = fewfrat fafew .
(F) fFm w7 vgfr = favwam
(@R F W F T T T R SEFT FER|
6. A and B are partners in a firm. Their Balance Sheet as at
31st March. 2010 was as follows : 15
# ¥R T TF W ¥ gEER §1 31 9, 2010 B S
fam e & .
Liabilities ; 3| Assets T
Provision for Doubtful
Debts 4,000 | Cash 10,000
Workmen Compensation
Fund 5,600 | Sundry Debtors 80,000
Outstanding Expenses 3,000 | Stock 20,000
Creditors 30,000 | Fixed Assets 38,600
Capital : A 50,000 | Profit and Loss A/c| 4,000
B 60,000
1,52,600 1,52,600

12274/6,900/KD/96 5 [P.T.O.



C was taken into partnerhip as from 1st April, 2010. C
pital but unable to bring any amount

brought 40,000 as his ca
for Goodwill. New profit Sharing Ratio is 3:2:1. Following

terms were agreed upon :

(a) Claim on account of Workmen's
Z 3,000. _

() To write off bad debts amounting to Z 6,000.

Compensation is

(c) Creditors are to be paid at Z 3,000 more.
@ X 2,000 be provided for an unforeseen liability.
(e) Outstanding expenses be brought down to T 1,200.

§3) Goodwill is valued at one and half years purchase of
the average profits of last three years less T 12,000.
Profits of 3 years amounted 10 T 12,000, ¥ 18,000,

Z 30,000.

Prepare journal entries, capital accounts and Opening Balance

Sheet.
H%_Nowoﬁﬁﬁﬂm%ﬂéﬂ_ﬂ

po,ooomﬁ@ﬂmgdﬂﬂ%ﬂ,@ﬂ%&
d@ﬂﬂmmﬂnﬂw,ﬁﬂﬁﬁﬁ%iw_jﬂi
ﬂ.m.m.nﬂm%"
Aﬁﬂﬁamﬁ%%%%ﬂﬁﬁjwboo 4
(@) g = F 6 000 sTfarEd fFL T

(m el ® T 2000 uw T T

Amv@ﬁaﬂﬁm%@AMNboo%%%

2

Sﬂ&mboo;ﬁu\o@ 6

vawm%ﬂm%. frog @ o9 & 3iga &9
ﬂM@ m&ﬂaﬂ ¥ 712000 F9 & fEam mm

3 AT FA:
o : T12000, T 18,000 Ter

dererEn wiafeat, 95t @m qen T feufy fEwo swRw

7.  What is Goodwi
ill ? Explain the method
Is s of valui i
How is it treated at the time of death of mawwwﬁﬂwmwooaé%w
%_ﬁqu%ﬂ,mﬂwﬂﬁmﬁiﬁ,%
Fifsw fFd TERER F 99g R mF B TR awiEa

fem s ®?
8. Write notes on the following :
(a) Rule of Gamer vs. Murray.
(b) Realisation Account. | ;
5

w fe :.aﬁe.mnu_.mv@.ﬂ“
(@) wefw fosa

9, .
The following Balance Sheet is presented to you :

- BALANCE SHEET
Liabilities Rs. | A
Creditors . = :
e 2,00,000 | Sundry Assets 3.10 oow.
— 50,000 | Cash at Bank .
pitals 1 A 1.00.000 Loss 000
" oy . s 1,50,000
000 A' Drawings 10.000{ 30.000
2274 6.900 KD 96 7
; [P.T.O.
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BCE/M-18 12275

MACRO ECONOMICS
Paper : BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

e

compulsory. Attempt four more questions from the
remaining eight questions carrying 15 marks each.

FA UGG T F SR AT wR Tem 1 st ¥
Y A8 T B ¥ iR WR oy ® I A v
WA 15 FF = B

1. Compulsory Question ( 37fard we=)

Answer of each of the following short type questions should
not exceed one page :

(a)

(b)
(c)

(d
(e)

Distinguish between Stock and Flow variables. Give

examples. 4
What do you mean by Effective demand ? 4
Explain the concept of induced investment. Use
diagram. : 4
Define Money illusion. 4

Describe the features of Gross Domestic Product. 4

fefafes 7 W 3 9 70 T F W @ 78 §
sfys 76 o =ifen .

(F)F d@ v w0 ¥ omR wemw SIE

Fifra

12275/6,300/KD/1039 [P.T.O.



(@) werErgel 7 ¥ oM wuwa &7

(M e FEm = cEuRm # = wiwy e
T

() T = w wfienfya wif

(T) T W SR 1 fwwmst v geilw Fifww

Define Macro Economics. Explain the scope of Macro
Economics. (3,12)

e sdfemer w1 gy $ifsm o wEas w1 aol
Eqis

Discuss Value Added Method of measuring National income.
What precautions are necessary while calculating National
income by Value Added Method ? (10,5)

T 3 & O F g gig ffy w1 el s
T iy fafu @ g o #1 M W wRE wR-
et wed 7

What do you mean by Propensity to consume ? Describe
the main determinants of propensity to consume.  (5,10)

99 wgfe ¥ 9 T TEER ¥ IUNM W ® g
fruir Tl w1 Iv wif)

Explain and illustrate the concept of Multiplier. What are its
leakages ? (10,5)

TR W OUROT F W@ies e wmen wifve e
fmm w7 &

12275/6,300/KD/1039 2

Discuss the main determinants of Keynesian Theory of
Income and Employment. 15

W B A9 7 R fogim ® qe Pl aw ow

FoiR IS

What is Business cycle ? Explain Hicks Theory of Business

cycle. (3,12)

=R wF R e @ =R uw fagim # s

FifSa|

Define Inflation. Describe the main causes of inflation.
(3,12)

TR w1 IR ST gXeE ® Ie Rl w6

o FfSTal

Critically examine the principle of Acceleration. 15

oF F fOga T TEEAE e RS

12275/6,300/KD/1039 3
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BCE/M-18 12277
ORGANIZATIONAL BEHAVIOUR
Paper : BC-204
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory
comprising short questions of 4 marks each. Attempt any
Jfour questions from the remaining eight questions carrying
15 marks each.

M oFE odE W B IW Y oy v | e
s 4 ofF o8t TT WA ¥ YW s W ¥ 9§
FE W YR T F SW T TEF W 15 3 w1 T

Compulsory Question ( 37famd wyT)

1. Write short answers :

(a) State any four determinants of Organisational
Behaviour.

(b) What is Figure-ground perception ?

(¢c) What are the psychological symptoms of stress ?

(d) What are Ego states ? State their features.

(e) Explain briefly any four types of culture.  (5x4=20)

Ty W T

(F) FRATRF HER ¥ FE W) fuReE o wan)

(@) P i@ stoaiy® w1 B2
12277/4,700/KD/1041 [P.T.O.



() @@ & TASAE A W OE ?

() s feufial wn &7 7= favwand samy)

(T) vpfa & = 9) v & d@fyw 9ol =1
Define Organisational Behaviour. What is the importance of
study of Organisational behaviour ? (5,10)

TSTeF: AR HI IRAYT FINY TeTHF  TaER
F AT F T AT &7

Explain the various theories of Personality. 15

i #1 fafa= faarumet =1 aviw Fifsw

What is Perception ? Explain the factors liable to
misperception. (5,10)

JFEY T B? M9 EEy ® fau fymER wes w
FUH FQ

What do you understand by Learning ? What is its nature ?
Explain briefly the Classical conditioning theory of learning.
(5,5,5)

dET 7= 2 TE TER I 2 e oW
Erceaiiceireiniic et L ik 1y

What is Stress management ? Explain the various stress
management strategies. (5,10)

e Yo w27 faftm @ wEem i w5t
ST FHifS

12277/4,700/KD/1041 2

Q.

What is Group Cohesiveness ? Explain the factors affecting
it. (5,10)

TE 9E T 27 W YA FE A WeH F:oavH
i

Write short notes on the following :
(a) Types of Transactions.
(b) Life Positions. (8,7)

e m ofam feofrat fos
(F) FTER *F TFR
(@) Siem fearfaf|

Write notes on the following :
(a) Process of Socialisation.
(b) Organisational Health. (7,8)

f= W feofrrt fog .
(F) TSRO &1 qiEan
(T) ISATHE e |

12277/4,700/KD/1041 3



7.

Find the area of the region included between the parabolas
y¢ = 4ax and x* =4day, a > 0. (15)

fr=fafes wEaE & o= wiEfem 99 %1 9% I
Eqisi

¥ = dax QA x? =4day, a> 0.

Find the dual and solve the dual :
&9 91 T a0 & F TS FIOC
Minimize ((JTGH) Z = 2x + Sy + 2
Ox + 2y +4z26
6x +3y-2z>8
x>0, y>20, z>0. (15)

A man retires at the age 60 years and his employer gives
him a pension of Rs. 6,000 per year paid in half-yearly
instalments for the rest of his life. Reckoning his expectation
of life to be 13 years more and interest 4% p.a. payable half
yearly, what single sum is equivalent to his pension ?  (15)

TF R 60 T8 F g A JatTEm T € den sue
iRt SH 6,000 ¥ W 99 F GvM erdenfiE fee w
I I SEA-FE ® fEw d R sEEr SeR yewn
13 9 qU1 W W 4% FA ¥, AdA¥F YR W 37 H
TR FE L, fFA TEHwd U SEEr 9RO
BI?

12278/9,700/KD/1644 4

Time : Three Hours]

Total Pages : 4

12278

BCE/M-18

BUSINESS MATHEMATICS-II
Paper : BC-205

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.

Fe . FA e WA P IR A wE TE 1 st #

1.

Compulsory Question (frard w9
(a) Find the dual of the LPP :
frfafes T d. (LPP) #1 &8 90 ST :
Minimize ((J70H) Z = 2x + Sy + 2
subject to (F9E) 9x +2y + 4226
6x +3y-27>8
x20, y20, 220 4)
(b) Find the compound interest on Rs. 5,000 for 4 years
at 6% p.a. (4)
5000 T F 4 T ® fAT 6% W T F W W
TFIfE S T e
(c) Divide 14 into two parts such that their product is
maximum., 4)
14 ® & 9 H W YR favs Fifee fF 9 oam
F PEES AuFHad 8
(d) Prove that fix) = x — 1 does not have a maximum and
minimum. (4)

fog T f&F Ay =x-1 1 FE AuFaa T
= TE R

12278/9,700/KD/1644/Trans. [P.T.O.



(e)

(a)

(b)

(a)

(b)

Find the effective rate of interest of 10% p.a. payable
half yearly. 4)
10% 98 a9 &1 TEE W W 99E =S WA
Fiera)

Find the present value of an ordinary annuity of
Rs. 60 per year for 8 years at 4% p.a. payable half
yearly. (7TV2)

60 . WA o I WURY AFE giH w1 8 T B
4% WA T8 T W W DA W W TOA oI T
Fiera

Find the amount of an ordinary annuity of Rs. 500
payable at the end of each year for 7 years at 7% per
year compounded annually. (7%2)

500 ¥. ®1 TF WHRU EF giE w1, 7 a9 F &,
7% ¥ T TfE Twgfy =S w1 oW | i 99
Eaisied

At what rate percent will Rs. 1,000 double in 10 years
at compound interest. (7%2)

THIE TS H W W 1,000 T, 10 I6 H Fr9 =
| H T E S
A new car is purchased for Rs. 4,00,000. Its value

depreciates at the rate 10% p.a. What will be its value
in 10 years. (7%2)

TH T FR F 400,000 T § T T TF 10%
I F W T W TR B 10 T A% TTH
1 TeT T ?

12278/9,700/KD/1644 2

4.

If a young man rides his motor cycle at 25 km/hr, he has
to spend Rs. 2/km on petrol and if he rides at 40 km/hr, he
has to spend Rs. 5/km. He has Rs. 100 to spend on petrol.
Find the maximum distance he can travel. Express this as
LPP and solve graphically. (15)

TF T9g9F IR o WX wEfee w25 fFava w5
THRR ¥ T € @ 39 2 5/ ' v wed # qen i
T 40 fFA/ATD F TER ¥ e ¥ oA SR 5 5 /fEe
TH FE T FOZEE U9 WA W T W F fAu
100 % ¥ W P fF 98 sfrran fradt 50 w9 W
TFEA ¥ 2 W T @R (LPP) ® w9 F == AT T
A g T HIf

Find the dual and solve the dual problem by Simplex method.

57 I FIWC a0 57 W W wEa fafy 3w e s
Minimize ((Ad9) Z = 3x + Sy
subject to (TA) 3x+ 2y > 6
dx+y>4
14x + 6y > 5

x>0, y>0. (15)

v

The demand and supply functions are py; = (12 = 2x)? and
p, = 56 + 4x respectively. Determine consumer's surplus
under monopoly (so as to maximize the profit). The supply
function is identified by the marginal cost function. (15)

T e SR W FE: T OGER p, = (12 - 202 T
p, =56 + 4x THMYFR F TE7 IS AW 1 7
FI (TF A S7fershem g1 S0 | &MY wom w1 Frefor
Hia AT wem W A ¥

12278/9,700/KD/1644 3 [PT.O.
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BCE/M-18 12279

IT AND E-COMMERCE
Paper-BC-206

Time : Three Hours] (Maximum Marks : 80

Note :  Attempt any five questions. Question No. 1 is compulsory.

e . w/W U WA F I AT T TS TR A
2

1. Compulsory Question ( 37famd wg=)

(a) Abbreviate :
C2C, MIS, EDI, WWW.

(b) Name 4 ways of E-Payment.

(c) Write 4 applications of Internet in Business.

(d) Define Data, Information and Differentiate them.

(e) Define B2B model. (4x5=20)

(F) foga #ifee .
C2C, MIS, EDI, WWW.

(@) -7 % 9N TWH P A9 FaEu

(M =R F & % =R JqwET #1 fafew

() B, THER F IRAEE Qg T R
FifsrT)

(¥) B2B #fedt =1 uifya wifsw

12279/3,800/KD/126/Trans. [P.T.O.



Discuss Business Data Processing and Impact of Computer
or Information Technology on Business. 15

TERTGF FFE TEUE q FOR W FGX A GEA
TETTR ® W9E w7 fFee Fwfen

Explain MIS and its relation with TPS. 15
THIMETE. (MIS) FI qen 3% AMTE. (TPS) & 9
I F T FIS

Explain Effect of Internet in Business Processing. 15

TR TEEfE ¥ TReE ® e W S i

Explain E-Commerce Models with examples. 15

-Tfoey Ofed w1 SEEw 9feq =rem wifew

Discuss E-Payment Systems with emphasis on Security. 15
T W IR T P Y YW yomer 1 faEem
HIfT|

What is E-Governance. Discuss E-Governance in Context
of your State. 15

TUET R R W T ® T ¥ i-wmw # fadeEm
Eqis

Explain EDI and Benefits of EDI. 15

idam (EDD) e o T F =REn Hifee

12279/3,800/KD/126 2

9.

Write notes on the following :

(a) Mobile Commerce.
(b) Internet Banking.
(¢c) KPO.

feafafes w feaoft fafag
(F) AT o)

(@) 7= afFm

(M AL (KPO)I

12279/3,800/KD/126 3

15



(@) i Ay, TeTseE IR ARIEEW ¥ IR W
= FeC

9. (a) Discuss Custom Animation.
(b) Discuss Sound Effects.

(¢) Explain how to use Movie or Overhead Transparency.

16
(F) FEH TIHYR W =9 FHIC
(@) w&f7 g9E W ==
(M fFem W sEREE AN w1 OITEM W W,
NS F IS
12287/500/KD/1105 4

Roll No. i Total Pages : 4

BCE/M-18 12287

COMPUTER APPLICATIONS

(Business Data Processing and PC S/W-II)
Paper : BC(Voc)-206

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question 1 is compulsory.
e ;. F@ W WA $ I AN T FE@m 1 e g
1. Compulsory Question Cincicl’tad)

Answer all the following :

(a) Define Cell in Excel.

(b) Write Shortcut keys for COPY and PASTE.

(c) Name two features each of WORD and PowerPoint.
(d) What is Slide-Sorter View in PowerPoint?

(e) Name rwo types of Charts in Excel.

(f) Define Handouts in PowerPoint. (5x3=15)

= gt & s Gfsu .

(F) TR § e F ufenfm sl

(@) M @R W= F fw widwe ®I ARy

(M ‘=2 R TEREZ, TE w1 & favmae % AW

AT

() TRz § weE TR T w8

(T) TS ¥ N TFER F A F Y FaRC

(F) TeRdrEz § ‘Eeueem’ wm Ui s
12287/500/KD/1105/Trans. [P.T.O.



2.

Using MS-WORD., explain the following :

(a) Formatting of Text.

(b) Editing of Text.

(¢) Use of Clip-Art. 16

TITE-58 ¥ 30N R = ) =en s
(F) 918 F1 TEI

(@) 92 F1 FuEA|

(M fRTI-oE F STEm

(¢) Preview and Printing Worksheet.
(d) Formatting Cells. 16

A % ued § = ow w= wife
(F) 'FH R ‘g3

(@) T fFrawm

(M) qEEEER R TEm FFie

() =TEI Hal

6. Explain creation of Line-Chart in Excel with sample data.
3. (a) Explain Mail-Merge in WORD. Add Legends, Grid-Lines, Lables and Title to it. 16
(b) Discuss Macros in MS-WORD. 16 T T F WY A H AEA-UR WM W S
(F) 2 | AA-Ts ® e S FIfS) dered, frg-oma, dea @R e F: o Wy
(@) Tmug-a€ ¥ fwe W o Fif wfeal
4. Using WORD, discuss the following : 7. (a) Discuss the use of What-If in Excel.
(a) Use of Tables. (b) Pertorm Sorting and Validation.
(b) Creating Indexes. (c) Use of Macros in Excel. 16
(c) Use of Shapes and Graphics. 16 (F) @A ¥ 'HR-IF' F ITHW W T= HU
‘T2 w I W e # fadem wifeg (W) B IR FEmE
(%) i & S| (M A H T owm Iwm
(@) ‘TEF' T 8. (a) Make a Slide-Show using five different Slide-Types and
(M) STFR R MFg 1 I75m perform Run-Slide-Show.
5. In context of Excel, discuss the following : &) U:mcmm the se of Speaker-Notes, Handout and
Outlines. 16
o com o 9 5 s 7 e e
, . FIEC SR T-TAEE-I F YE¥H I
12287/500/KD/1105 2 12287/500/KD/1105 3 [P.T.O.
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BCL/M-18 1

MARKETING COMMUNICATION-II
Paper : ASPSM-BC (VOC.)-205

[Maximum Marks @ 80

Note : Attempt five questions in all. Question No. 1 is

E 1A

compuisory.

. mE U TR T | W FeT |

Compulsory Question ( AfFaE wvH )

Write short notes on the following :

(a) System approach of Marketing. 4
(b) Functions of Personal selling. 4
(¢) Factors affecting the selection of Advertising media. <
(d) Objectives of Sales Promotion. 4
{e) Public Relations Tools. d

i~

. ,
T e Tt
15101 e &

8~ TET X
LT N
N~ U .
(F) g TeemE & |

b
—
v

XY



What do you mean by Communication 7 Why is it de;
Explain its various characteristics. o

a9 0 T

qUIE H ORI 9 AP Rrenuwed F waemt

55%@0wozﬁomzc%:&%ogmOww\:z‘w@:zm
communication ? Discuss. 15

o wER ow AR 9w own ommeR ¥ s

mm_:g.@

“Money spent on advertising is an investment or waste.

FExamine the statement, 13
A qTEg” v

What do you understand by Sales promotion ? Explain
advantages and limitations of Sales promotion. 15

oY ~ . c

Tamg dada € oy 9 wEEm ¥ Brg TEen m ey

limitations of Integrated marketing
? tions for effective

bBxplamm the sugges

Integrated marketing conmmunication, 15
TFIET TeTE mER w3 HmR ¥ uEwe oo
TER T OTEE g9 s
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BCM/M-18
CORPORATE ACCOUNTING-II
| Paper-BC-401

Time allowed : 3 hours] [Maximum marks : 80

Note :- Attempt five questions in all, Question No.l is
compulsory. All questions carry equal marks.

Re - FT G g7 % FAX Ao FeT qew-1 svard &1
go7t & o garT &1

1.  Compulsory Question.

Far geT

(a) Explain the calculation of Capital Employed while valuating
goodwill. . 4
i ToieT w0 a9 RFERE O @ T e @)
BREIEN

(b) Discussany five factors affecting valuation of shares. 4

el % eI B A F A el arg awat B faaEe

HIRT |

(c) Writeanote on Voluntary winding up. | 4
Aed T W & e RRa |

(d) WhatisaHolding Company? 4

Fra=s F f5e Fed &7

() What do you understand by the term Surrender Value in
respect of Life Assurance? 4

S ST % w0 g 8 9 F e 82

] e



2.

{2)

Explain fully. taking imaginary illustration, the concept of "Super
Profits”. How is goodwill valued on the basis of Super Profits?15

TR A9 BU AR e@eren & 9 w9 9

N

| AGATH & AR G = B gediE 5 qehR R

N <

SIS

by A

Given below is the Balance Sheet of Mohan Ltd. as on 31¢
March, 2012. You are required to ascertain the intrinsic value,

market value and fair value of the shares:

Particulars Rs. Rs.

EQUITYAND LIABILITY:
Shareholder's Funds:

Equity Share Capital (75,000 Shares
of Rs. 10 each fully paid up)

7,50,000

Reserve and Surplus:
Reserve fund 75,000
Profit and Loss Balance 1,25,000
(Opening)

Current Year's Profit 7.90,000
9,90,000 |17,40,000
Non Current Liabilities
Workmen's Provident fund 15,000
Current Liabilities

Trade Payables 78,000

__Nwow_

(3)
Short Term Provision : Provision for
doubtful debts 25,000
Total |18,58,000
ASSETS:
Non Current Assets:
Building at cost 3,25,000
Less: Depreciation Fund 50,000
2,75,000
Furniture at Cost 5,000
Less : Depreciation Fund 1.000
4,000
Goodwill at cost 85,000
Investment in Govt. securities 2,58,000
Current Assets:
Inventory at cost mwm.ou_ooo
Trade Receivables 3,35,000
CashatBank 51,000
Total |18,58,000

The company is expected to maintain its profits earning capacity
for the next year. The average annual yield of companies in similar
line of trade is 20% on market value of their shares. The goodwill



(4)

of the company is worth four times the amount shown in the
books. The other assets are worth the value stated in the Balance
Sheet less respective provisions and reserves created against
them. The Net Income received from investment during the year

ended 31 March, 2012 was Rs. 13,000. 15
4. The following are the Balance Sheets of H L.td. and S Ltd. asat

31 March, 2016.

Particulars HLud SLtd
1. EQUITYAND LIABILITY:

Shareholder's Funds:

Share Capital:

Shares of Rs. 100 each, fully paid up| 25,00,000 {10,00,000

General Reserves 5,50,000 | 2,80,000

Surplus (Prcfitand Loss) 2,00,000 90,000

Current Liabilities

Trade Payables 2.25.000 | 2.00.000

| 34,75.000 {15,70.000

2. ASSETS:

Non Current Assets:

Fixed Assets 22,25,000 |12,00,000
Investment: |

75,000 Shares in S Ltd. at cost 9,50,000 .
Current Assets 3,00,000 { 3,45,000

Current / non Current Assets

_u QQOH_

(5)

Unamortized Expenses

34,75,000

The shares of S Ltd. were acquired by HLtd on 1% April, 2015
on which date the general reserve and statement of Profit and
Loss of S Ltd. showed balances of Rs. 2,20,000 and Rs 20,000
respectively. Unamortized expenses were not written off during
the year ending 31st March, 2016.

You are required to prepare the consolidated Balance Sheet of
HLtd. and its subsidiary S Ltd. as at 31+ March, 2016. 15

Explain the need for valuation of shares. Also explain the factors.
that influence the valuation of shares. 15

Si B oAl B TEAEHT B AR ) I ae B/ A o
FINT S A B qeieT B R B ¥ |

What are Non Performing Assets? How is Income accrued in
respect of Non Performing Assets dealt with the Banks?
Explain. 15

FTIECHE TR @ atEE Y7 emeEd eRE @
ST o & §% b geR o s @ ¥ aoi g

What do you know about General Insurance? What are the
provisions for keeping its accountancy record? 15

AT G S B AR F M Y $2 oud aar g gmeE
-7 &7

]



8.

(6)

The Profit and Loss Account of a Fire Insurance Co. shows the
profit of Rs. 3,00,000 for the year ending 31.3.2016 before
taking into account the following items:

Rs.
@)  Claimsintimated but not admitted - 55,000
(i) Claims outstanding for 10 years now - 30,000

written off ,

(i) Reinsurance recoveries - 23,000
(iv) Outstanding premium - 80,000
(v) Bonusutilized inreductionof premium - 10,000
(vi) Interestaccrued on securities - 5,000
(vi) Agents commission to be paid - 7,500

Pass journal entries for the above omissions and show the net
profit of the company after making the above adjustments. 15

31.3.2016 & §9€ &1 A a9 & [T O AT G & S
o B G A9 3,00,000 So o W 36 A FH B T

= g 3 8w R

4
() = g ey ©ga - 55,000
(i) M Eaw $ ofRd T o9 AT - 30,000

fT M@

(i) g onfeer - 23,000
(iv) =T e - 80,000
(v) oiftew gem &g aeE - 10,000
(vi) RN ® s =™ - 5,000
(vi) T e Fiae - 7,500

(7)

How will vou prepare a consolidated Balance Sheet in case of

partly owned subsidiary? Explain with the help of a suitable
example. 15

ST W et HeTaE B! 39 7 SN Thiega Reifd ez
8 TFR G B ITgET IETeT dfed auesd |

__ MMO»_
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BCM/M-18

BUSINESS ENVIRONMENT IN HARYANA

Paper—BC-402

[Maximum marks : 80

Note :- Attempt five questions in all. Question No. 1 comprising

dle -

1.

of five short answer type questions carrying four (4)
marks each is compulsory. Attempt any four questions
from remaining eight questions. All questions except
Question No. 1 carry 15 marks each.

T G 997 % FO¢ A0 g9 qewr-1 sfErt &1 frad
G TG FTOT 99T 4-4 SIH 3 & I oS g F
&Y Je1 B T HI | 997 FEq-1 7 St qoft 797 15
5% %

Compulsory Question
a9
(a) What are the main characteristics of Business Environment?4

(b)

©

(d)

AT AT H 97E a7 §7

Explain the economic factors or determinants of economic
development. 4
A o & onfife Ml a1 awt & aoi ¢

What are the various credit needs of the farmers? 4

frarl & R @ aEsTEad AE-Be o ¥7

Write a note on importance of Special Economic
Zones. 4

Ry ofle &5 & wew W feweft #¢)

12294 "Turn over




(2)
(e) Explain four main functions of HAFED. 4
T8 & IR e A # a°F H

2.  Whatdo youmean by Business Environment? How is it important
in the modern business? 15

FERAE ACET § ATH A 87 Y i
FrarEReT § 7 69 TR qel of

3. What are the various obstacles in the way of development of the
economy of Haryana?

eRET i S $ @ § SH-A9 @ g &7

4. What are the main causes of low productivity of agriculture in
Haryana? Suggest some measures for the improvement of
agricultural productivity. 15

gRaren & Y & T SuREm & T FROT A &7 Skl |
aR & U §B IuEl H gHE &

5. Discuss in detail the objectives and features of NABARD. 15
T & Seedl aur Rdwarel w e § == w6

6. What do youmean by Agricultural Credit? What are the various
problems of Agricultural credit? Suggest measures to overcome
this problem. 15

Y ara & v w91 IR 27 Y g @ Ry e &
27 N arE B gEEet # g N B gHE T |

7. What do you mean by Rural indebtedness? Discuss the measures
to reduce rural indebtedness in Haryana. 15

12294

(3)
T SO @ @ R &7 eRaen ¥ arier wepRad @
F9 FA P IqE T T R

What do you mean by Small Scale Industries? Explain their
relevance in development of the economy. What are the problems

faced by these industries? 15

TG TART @ UH T AT 87 e & fhg § g
yeEfiEd & a) & gad | 3 IEN R gl & qEea ] @
4

Highlight the main features of latest Haryana Budget. 15
T Rarn a5 @ ge Rewdel ®& ao # i)

12294




(4)

Cost of the machinery to be installed works out to ¥ 2,00,000
and machinery is to be depreciated at 20% on original cost basis.
Income-tax rate is 50%. Evaluate the project according to:

(a) Rate of return on average investment.

(b) Payback method. |

(¢) Discounted cash flow method taking cost of capital at 10%
(d) Profitability index method.

Discount factors of 10% are 0.909, 0.826, 0.751, 0.683
and 0.621 for the years 1,2, 3,4 and 5 respectively.

X Rio T GRASTT %1 THET FT @ T W T B 99 Ry H

¥ vea frefafaa @ Y1 -
a8 <
1 80,000
2 80,000
3 90,000
4 90,000
5 75,000

w2 A 9 At AdeR @ A T 2,00,000 ¥ qem e
R e A6 SR W 20% A T | |G T SACT | JGH A
W 50% 21 FegEr oRaeT & e i

(%) ol fET W oEmE @t

(@) Y = fafy

(M) TR BN AT 10% I T §THA VHS Wa® Ay

(=)

0.826,0.751,0.683 7 0.64 a8 1,2,3,49 53 R ¥

[17295]

AT T GEhs [ 10% % g & FAE 0.909, -

RolINo. ..ccvvvrannan,
Printed Pages : 4

Time allowed : 3 hours]
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BCM/M-18
FINANCIAL MANAGEMENT

Paper—-BC-403

[Maximum marks : 80

Note :- Question No 1, comprising of five short answer type

questions carrying (04) four marks eachis compulsory.
Attempt four questions from remaining Eight questions
carrying 15 marks each.

Fe-  F97 Fo 1 Frg®  9id GG IT a1 T3 §9F B 4 oF

1.

f17795]

Sifart &1 s} oS 7oAt F @ X ge7 #8815 o7
&l .
Explain the following:
Frt &t e v
(a) Ploughing Back of Profit.
Al 1 gAR e
(b) Trade Credit
e 34U
(c¢) Functions of Treasurer
gart % P
(d) Venture Capital
e i
(e) CashCycle
AP b 4x5

2. What do you mean by finance function? Discuss its objectives. 15

R 3 @ oM T ane ¥ g el @ BT @

[Tumover




(2]
3. Define Financial Planning. Explain the characteristics of a sound
Snencial plan 15
forir Byaoms &) WP 1 S A B den @ e aeEn
4. Whatis O pitalisation” What are i1s causes and remedies?
R LT F LY 3EE sy A gy e e
5. What 1s MM approach of capital structure? Explain its
limitations. 15
G g & THowHo far 7 27 T6E G sy
6. Explaincritically En different approaches regarding the financing
of Current Assets. 15
o R B R eEe /4 SurEl A e amen
& |
7. Explain the Walter's model of dividend in detail. 15
IR B WA AT B I @ @ w1
8. The capital structure of Radhika ﬁa. is as follows:
| <
Equity Share Capital (4,000 shares fully paidup)  4,00,000
12% Debentures of ¥ 100 each 2,50,000
9% Preference Share Capital (2,500 shares fully  2,50,000
paid)
Retained Earnings 1,00,000
10,00,000
12295

(3)

7

The company has earned I 20 per share on equity capital. The
shares of thie cormpany are sold in the markei at book value. The
corpoiate 1ax rate 18 35%. Cost of equity share capital is aiso to

as the cost of retained eamnings. Caleulate the

(4

weishted aversy = cost of capital.

15
TR Re & W HvEE A e R R

4
T AT T (400 sfer 3ot 3=) 4,00,000
12 % %9 ®o 100 J3% 2,50,000
9% AfAE sier T (2500 sis Pf <) 2,50,000
TR 1,00,000

10,00,000
FA T gEa Toh 9X 203 9fy sfwr it B 1 o B ofw
IR 7 g G T a9 A8 | e @ wX 35% 8w
%ﬂ@%mﬁ%&g%&ﬁmﬁ%_@&
wia e @rE @ o BRI

X Ltd. is examining a project which will yield the following profits

after depreciation but before tax: 15
Year 3
1 80,000
2 80,000
3 90,000
4 90,000
5 75,000

12295
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Printed Pages : 3 12296
BCM /M-18
COMPANY LAW-I
Paper—BC-404

Time allowed : 3 hours] [Maximum marks : 80

Note :- Attempt five questions in all. Question No. 1 is
compulsory.

e - T o g B IO A 9T qEA-1 AT 21

Compulsory Question (Sifard I57)

1. Write short notes on the following;:-

frfofa oX dftre fewferl fafaw:-

(a) Company is a separate _,omw_ entity. Elucidate. 4
FT ©h g AU T B | T SR

(b) Who is a Promoter? 4
SeRid B BN o |

(c) What are Bonus Shares? 4
e Sl T B 87

(d) Whatis Renunciation of Allotment? 4
Jdeq @1 aRwr @ 27

(e) Whatis share certificate? 4

JiQT STOT-9S & BIe 27

2. What do you mean by lifting of corporate veil? In what
circumstances the corporate veil be lifted? 15

PRSI STTEX & STFIENOT @ ST & A B fhe aftfRerfoat
¥ gz SEX & THAT 7
12296 [Turnover




(2)

3.  WhoisaPromoter? What are his functions? What are his rights

and obligations? How is a promoter remunerated? 15

Tade B BT &7 SUS 9 A 27 IEB F AER AN A
27 o yaad B WiEHs H4 Ray o 87

4. Explain the name clause of Memorandum of Association. How

alternation in name clause can be made? 15

arfe i & A g @ A S| 9 g § qiadd
&9 fear o gar 27

5. Define prospectus and explain its contents. Under

what circumstances company need not to issue prospectus. 15

ufEer & Uiy HifT o gEs il @1 guie ity
fo ufitfeafadl o sl & gfaaeer g £ @1 aasdr @l
2 B

6. Whatis meant by allotment of shares? What are the provisions

of law with respect to allotment of shares. 15
Hell & ST A F1 AP 87 ofslt B ondes & dag F sftEm
# FT e ¥7

7. Whatis Share Capital? What is its nature? Explain the different
forms of Capital. 15

el @ 27 3 N w27 O & R R @ e
FIRTT |

8. Whatisashare certificate? When can it be issued? What are the
legal effects of the issue of a share certificate? 15

12296

(3)

A JHTOT-T 1 BT 27 38 e (i fhar o g 27 o S
TH-TF R S & 99 A9iE g9E 8 g

Write meaning and characteristics of debenture. Explain different
types of debenture. 15

Foe & QR wg faQwand fafae | e ver & et @
R |

12296
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BCM /M-18
BUSINESS LAWS -I1
Paper—BC-4035
Time allowed : 3 hours ] [Maximum marks : 80

Note :- Attempr five questions in all. Question No. 1 is
- compulsory.

Ae - g oF g & s A g7 wem-1 g &1

1. Compulsory question.

HAad ueH-

@

(b)

©

(d)

(©)

Explain "Partner by mmﬁomvﬁ._ or "Holding out Partner.”
TAREY A e &N AEE |

Distinguish between Dissolution of Partnership and Firms.
TRE T T B GENT AR

Explain the power of the RBI to issue direction and inspect
the authorised person.

Fga e B Py 3 qur Pl #0 & Rod 3% @
AR & qoi T |

Describe the functions of controller of certifying Authorities.
TR Ml e & w5 saRl

Explain the procedure for inquiry on complaint under section
19 of Competition Act 2002. 4x5=20

yftreret afafvam 2002 # ara 19 & S Rt & s
qEAT B AFRAT H aU i |

12297
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(2)

Can a Minor be admitted to partnership? If so, what will be his

rights and liabilities during his minority and after he has obtained ’

majority. 15

T UF FagEh AR & gEErd § ghaiia B on g 8? AR
& A IHD ageraT @ o[y § au auEEdT M H & 9%
IS SAYHN T AT T B

What is Partnership Deed? Explain its contents and rules

applicable in the absence of partnership deed. 15
e g a2 dEl §dw @ TeAy a6 AN 3
o ¥ @ 8 a a5 Ied I |

What are the provisions of FEMA in respect of Appellate
Tribunal? 15

R AERETT & a<d § i R ey sl 3
T T 87

Write notes on:

fr @ el gt

(a) Directorate of Enforcement. 7V
CREEEENIRD

(b) Capital Account Transactions. 7%
o @R § -2

Explain the provisions of IT Act 2000 regarding Cyber Crimes

(offences) 15

12297

(3)

TEER FEH () & wafad e Sefe sffEe 2000 B
WG &1 O I |

What are the provisions of IT Act 2000 relating to establishment
and composition of Cyber Appellate Tribunal. 15

ga SR afifEr 2000 & wRE o@eNg SfwTT @
TG U TEAT & 7 WEEN 87

Write note on Competition Commission of India. 15
e ofeeet s ) faega el @i
Write Notes on:

et @ el #if:

(a) Anti-competitive Agreements. 7%
ufereqat Rl 8w

(b) Procedure for Investigation of Combinations. 72
e & o 3y W

12297
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Printed Pages : 3
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BCM/M-18

FUNDAMENTALS OF INSURANCE

Paper—BC-406

Time allowed : 3 hours] [Maximum marks : 80

Note :- Question No. 1 is compulsory. Attempt any four questions
out of the remaining eight questions.

A - g7 gew-1 g &1 99 one gs 7 F @ BT % g9
ST |

Compulsory Question (SFard 35)

1. Explainthe following; , 5%4=20
Frey &t e iR
(1)  Any four characteristics of insurance.
S A B =R R |
(i) RightsofAnAgent.
e & SR
(1)) Typesof marine insurance.
s &M & THIT
(iv) Types of bonus on life insurance policy.

v}

A dm ot ¥ 999 % 9ER
i'rinciple of Insurable Interest in fire insurance.
o s | arg e R

12298
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(2)
2. Write notes on the following. 9+6

M 97 T

(i) Insurance as a Social Security Tool.
T OB W R B A

(i) Insurance and Economic U@<Q%Bo§.

41 T S e |

3. What do you mean by annuity? What are its features? Explain
the different types of annuities, 15
ﬁm&@@ﬁﬁﬁﬂwwMﬁ&ﬁqmgwww@ﬂﬁﬁﬁ
T 1 g ¥

4.  Whatdo youmean by fire insurance? Explain the different types
of fire insurance policy and also provide the procedure of taking
afire insurance policy. 15

ﬂ?%ﬂwﬂaﬁﬁﬁg%%%ﬂ%w%ﬂ
ﬁ&&ﬂ@%amﬁ%%ﬂﬂ@%%%n@ﬁﬁﬁ_

5. Explainthe following with context to marine insurance: 3x5=135
THEF a1 & g § B o areg FIRe:
(i)  Double Insurance.
i
(i) Warranties.
HTIHETEH |
(i) Premium Calculation Methods.
M o ) R
12298

(3)

What is motor and accident insurance? Explain the different types
of insurance policies. 15

_,&ﬁﬁmﬁﬁﬁww&ﬁﬂﬁﬁa%w%ﬂ%
FI e Hif |

Write a detailed note corporate agents. 15
Frife arferedt ot frege e R

Define marine insurance. Provide the types of marine insurance
policies including policy conditions. L 15

"Insurance is an instrument of &mﬁgﬂgm the Joss of few among
many." Explain in detail. 15

,:&ﬂﬁﬂﬁw%@%ﬂg%ﬂgﬂﬁﬂgm
e B 17 R & aoi a8y

12298
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Printed Pages : 3
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BCM/M-18

HUMAN RESOURCE DEVELOPMENT

Paper-BC-411

Group-III (HRM)
Time allowed : 3 hours] [Maximum marks : 80
Note :- Attempt five questions in all. Question No. I is
compulsory.
Ae - T GIT g9t & g Fo 7o dqeqr-1 sitvart &
Compulsory Question (sFarf ¥¢7)
1. Write short notes on the following;-
Frfifee « st Rufrt R
(@) Integrated system approach.
- Ui YoM giesr g
(b) Vestibule training,
SRS STTaT SR |
(©) Wm%onwmg&om for career planning,
IR FEee @1 SwRafrE )
(d) Management by Objectives.
HReT gy
(e) Objectivesof Performance Appraisal. 5x4=20
Rt s & ade
12303 [Tumover




(2)

. What do you mean by human resource development? Explain

the role of HRD Manager in modern organisations. 15

qE S R @ o g 87 ongfe det § A
T R TEeas @GR W S HitT |

. What do you understand by training? Explain its need and

process. 15

R Q SN N ST £7 NRmT P SEvaET Od ufRar H
o BT |

. What s career planning? Explain its process and alsp explain its

limitations. 15

&ﬂﬂgﬂmmﬂwvmﬂggwaﬁwﬂmﬁmﬂ:@wmQMQ%mjaﬁ
& aoF H

. Explain briefly the various Emﬁo% of evaluating the performance

of employees. 15
Tt 3 Peuee geaiE @ AR e B R s B |

. Write detailed note on human resource development mechanism

or sub systems or Smﬁﬁunam of human resource
development. 15

a9 (O S SU-SenR e e /
AR W frga A W

. Write short note on the following:- 8+7

Prfafas ® e e Red-

12303

(3)
(a) HRD Climate in India.
qRa # g dEree faeE anaEReT
(b) Technology and HRD.
RN AR A dare EE

. What do you mean by employee empowerment? Explain the

significance and different elements of employee empowerment?15

e QR & oTY T GUER ¥ 3 Hew U9 R aw
1 quH HioT |

. Discuss the major challenges involved in human resource

development in current business environment scenario. 15

o ugw o o e e 3§ ﬂ@mm%ﬂ
TRt A Tt BT

12303
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BCM/M-18
DESKTOP PUBLISHING
Paper-BC-405

Time allowed : 3 hours ] . [Maximum marks : 60

Note :- Attempt five questions in all, select any four questions
from each Section-B while Question No. 1 (Section-A )
is compulsory.

A - T 97 597 F I derg W7 & il T 5o & g
T T g9 G-1 (47-97) At &1
Section—-A Aﬁﬂlﬂv
1. (i) Whatare the hardware requirements for Pagemaker? 2
Pagemaker & R0 F1-99 & aax 4 sreqm 27
(i) How toinsert superscript in MS-Word? 2
MS-Word # superscript text 3 Sa?

(i) What is the difference between Paste and Paste
Special? 2

Paste 3 paste special § a7 sigy 27
(iv) Howtosetline spacing in Pagemaker? 2

Pagemaker ¥ line spacing 33 ¢ 537

(V) Whatis use of control Palette in Pagemaker? 2
Pagetnaker 7 control Palette 50 @M oy 37

o

(M) What is Open Office?

Open Office Fu1 37

12310 [Tumn over




(2)

Section-B Aﬁﬂlmv

2. What are the Applications of DTP? Discuss in detail. 12
DTP % SR H-H § 37 R | aawen

3. Explainthe following in Pagemaker. 12
Pagemaker # fFrfeiad @1 dmsmad |
(a) Viewing the Pagemaker Page.

Pagemaker 7% (Page) &' @ (Viewing)
| (b) Pasteboard.
& 9 (Pasteboard)

4. Write the steps with the help of an example to create and format
atable in Pagemaker. 12
Pagemaker ¥ 2 (Table) & S & g 30 W fafe= Fr
formating & @ Ry TF Iamexer I wera q

5. What do you understand by Pagination and indexes in
Pagemaker? Explain. 12
Pagemaker ¥ pagination 9 indexes 4T 8Kl &7 THAS |

6. Whatis the purpose of preferences in Pagemaker? Explain the
various options available in Preferences. 12
Pagemaker ¥ JHAw (Preferences) ¥ a1 Jed el &7
A (Preferences) & fafy=t wedt &1 R @ awemedl |

12310

(3)
Explain the various word formatting features in Pagemaker. 12

Pagemaker & faf¥= @& @ word formatting TR |

What is master page in Pagemaker document? How it is different
from ordinary page? What is its importance? 12

Pagemaker s&@@% (Document) § Master Page &1 &l & | &
T IS AT HW B 5?7 ZHH F HEA &7

Discuss about Graphics feature of Pagemakerindetail. =~ 12

Pagemaker & T Bdvar 3 R § R @ awsmel|

12310
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BCM/M-18

FUNDAMENTALS OF DATA BASE
SYSTEM-II

Paper—BC-406

Time allowed : 3 hours] [Maximum marks : 60

Note :- Attempt five questions in all. Question No.l is

compulsory.

e - g G 497 F | 9T qear-1 e &1

1.

Explain. 6x2=12
o & |

(a) DBMS

(b) Usage of AND operator in SQL.

(¢) Composite key.

(d) Domain.

(e) View.

() Describe command.

What is a join operator? Explain various join operators with
suitable examples? 12

Join operator F1 &7 A= ¥HRX % join operators & o < |

Explain with examples: 3x4=12
JEETT Hied I &K | |

(a) Candidate key.

(b) Foreignkey.

12311 [Tumover




(2) (3)
(c) Primarykey. 9. Explain withexamples: 4x3=12

4. (a) Whatare viewsand for what purpose they are used? SeTEeT |fed O H

2x6=12 (a) Delete command

(b) Update command
(c) Insertcommand
(d) Rollback command

Views &1 w%ﬂ ST ST IR FX |
(b) How views are different from tables.
Views @R Table & !

5. Explain. 3x4=12
o |
(a) Triggers
(b) Synonyms
(c) Indexes
6. (a) Why stored proceduresare called executable codes?
2x6=12
e SRR 3 P A B @ R o €
(b) What are the responsibilities of Database Administrator?
TR yaTE H Rl 87

7. What do you mean by term DDL? Write down about various
DDL commands with examples. 12

DDL @1 ¥? DDL commands &l ST&TT gteq aoiF HL|

8. Describe various set oriented operations that can be performed
on arelational database. 12

RELATIONAL 2eR® % Set oriented STRYE! &1 IEEeT afed
o &Y |

Py | 12311
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Printed Pages:2

BCM/M-18

OFFICE PRACTICE AND COMMUNICATION

Paper—BC (VOC) - 405

Time allowed : 3 hours] [Maximum marks : 60

Note :- Attempt five questions in all, Question 1 is compulsory.

All questions carry equal marks.

e - R gig gt & oox A g7 qewr 1 avard 81w

797 % 3% T B
1. Explainthe following in brief:-
Freifafea & @89 o quig i
(a) Addressingmachine
qar forEm & A
(b) Postoffice guide
3T FAE R
(¢) Inward mail opening
A A A B Tl
- (d) Outward mail stamping.
e I T T U AR T
(e) Courierservice
FRTR Jarg
(® Fumnishing desire information.
e AN GEE S HET

2%6=12

2. Explainthe advantages of centralization of mail indetail. 12

TE B DEGHO B A DB R T i |
12312

[Tumm over

(2)

3. State the procedure of sorting mail on table and in racks in brief. 12

S1% H qd WX J TN A Bjed o Uikar & §8Y F gl it |

4.  Explain the procedure of marking and distributing the inward mail

in post office. 12

IR STEE & T Al 1 & SAibd Td fBawer 39 @ gfkar )
faaemT Sk |

Explain the advantages of outward mail in detail. 12
qET S AR S B el B PR @ e i)

Describe the importance of Folding of Letters and weighing of
letters. 12~

WA B AT T IR Al B B HBd H G BRI |

. Explain the procedure of courier and postal services in the
distributionof mail. 12

B % AT & U AR 7 dew Yarell @ aitkar & A
Fifom |

. Whatis good letter? State the essential characteristics of a good

letter, 12

IBT O H 7 TF B T B NavdE P B e S

. Draftacomplaint letter as a sample. 12

T B IR W & R o #@ SE $ii

12312
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BCM /M 18

SHORTHAND ENGLISH PART —A
(THEORY)

Paper—-BC—406

Time allowed : 2 hours] [Maximum marks : 60

Note :- Attempt five questions in all. Question No. 1 is
compulsory. All other questions carry equal marks.

e - el Wig 9o @ gt e gvT wer-1 sifvart &1 e
& g7 & o F T &)

1. (a) Whatissuffix?

Suffix 1 7

(b) What is Consonants? Explain the different consonants?
i Pl e B Rt @it @ e #%)

(¢) Explain/rules for Dot 'H'. Q_<o 2 ow.&wEm.
Dot 'H' % a9 &t amen & Sarexwr aika #¢)

(d) Two Examples of Medical Semi circle.

* ‘Medial Semi circle' 3 3 waetT R |
(¢) Meaning of Phraseography.

Phraseography &1 aref R |
(® Draw outlines of two words each of upward 'SH' and down
ward 'SH'. : 6x4=24

99s 'SH' 3R s/&rae 'SH' 3 -3 =8 8 & R |

2. Explain the Halving Principles used in Shorthand and their
exceptions. _ 9

12313 E;:.B over




(2)

syt ¥ wdrT 63 ST I Halving Riidl $lIX 37 oroarat &
A HX |

Explain the compound Consonants in detail. . 9
e aioFt & Rreargd® ao BT
Explain the different Contractions used in Shorthand. 9

gt & srge B T @ R Contractions & 9 &Y |
Write short note on the following: 9

Prfifed @1 3ot @ftra w7 @ Bt

@ Upwardand Downward R'
J9E AR soEs R

(i) Three Suffixes
& @ (Suffixes)

@ii) Three Examplesof Tick H
Tick 'H' & &9 =&

What is Doubling Principle? How is it useful in Shorthand? Give

example in support of your answer. 9
<afi Riia @& a ond 37 T8 ongRily ¥ Red R wers 37
AW SR B T & IR ST 2

Explain the use of Suffixes in Shorthand with examples. 9

ongfafy & s B o R Suffixes H IAECT Wed
|

12313

(3)

Draw the outlines of the following: 3%x3=9

(@) 500, 6000, 4,00,000

(b) (@ According tothe (ii) By All means
(i) Importance

(c¢) @) Birthday Party (i) Central Govt.
(i) Insurance Company

Prefofea @@= Bt

(@ 500, 6,000, 4,00,000

() @ According to the (ii) By All means
@) Importance .

(¢) () Birthday Party (ii) Central Govt.
@ii) Insurance Company

Explain all the options of Writing 'H' in Shorthand with suitable
example. 9

gl ¥ 'H fraw & @ afet @ S R Rt

12313




(4)
9.  Write short notes on the following :
(a) Valuationofloss ,,m&<wmo
(b) Limitsofliability
(¢)  Vessel and cargo insurance contract
(d) Growth of marine Insurance in India.
Frafi w At fewiri R
(%) &fd PR = gE
(@) aRE # g
(M 9 M TR G g
() 9@ & S 9 @ R

[12314]
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BCM/M-18
' MARINE INSURANCE
Paper—BC (VOC.)-405
Time allowed : 3 hours] [Maximum marks : 80

Note : Question no. 1 is compulsory and each part of it carries
4 marks. Attempt four questions out of the remaining

questions carrying 15 marks each.

AT : g . 181a1d & aOT S5 TAF G 4 3K #; &1 99
...E&m%ﬁ«ﬁuﬁ@aiﬂ:&%ﬂw\

1.  Explain/answer in up to 1-2 pages length each of the following :

(@ Define marine insurance. Give brief history of Lloyds.
(b) Whatare the various clauses of marine insurance policies?
(c) Briefly explain various causes of marine losses.
(d) Whatare maritime perils ? What is partial loss ?
(¢) Whatisatotal loss under marine insurance ?
fFrafife & @ wQ@% # @/ 1-2 39 7% A

@ g @R @ AT B dagE @ AR e

-
(® R afdl 3 Rt amais w@n g ?

12314 Trans. PTO.




(2) ;
m wF e & Rw el @ dit e fv)
@) i%gwwﬁm@%ﬁwm
@ TP 9 B ofwla et e T e

Explain the structure of the marine insurance market and discuss
the functions and responsibilities of insurance brokers within
the market.

T A R H AT B e S a9l R F e
i el R ae Sl B fdeeer wi)

What are the subject matters which are insured by marine
insurance ? Also explain the procedure to obtain marine insurance
policy.

98 Rvg-axg o1 & S W 9 g St e ¥ 7wl
el o H A SR A e HR

Explain the procedure of claim settlement in marine insurance.
Describe the various documents required for claiming marine
losses.

A i & wrr Foer i wiea @ e A wg bkt
& ot & fq omaves e gEl @ o SR

Explain the importance of the principle of Insurable Interest,
Utmost good faith, and implied warranties in case of Marine
Insurance. :

g A & A F S e, aradl W e iR aried
3 Rrera & "o A e |

12314

(3)

What is meant by marine loss ? Explain ‘actual total loss’ and
‘constructive total loss’ in marine insurance.

o iy & = o ¥ 7 W S A ‘arafas ga el o
TERTE TR Al A e Hitig |

Distinguish between general and particular average loss. Define
PPI policy. ,

ararer R o afy @ 99 oft e A § § o Ay
F R HT

. Avessel is badly damaged by fire (an insured peril) and the

assured, the shipowner, estimates that the cost of repairs will
exceed the value of the ship when the repairs have been

completed. Discuss:

(a) the options availabe to the shipowner

(b)  the procedure to be followed to claim under the policy
(c) the position of the underwriters.

T STE ST & gt wee sl & T @ (v St SAew) a
A, STETeTEE, T @ § B A # e o g
BN T e B g 9 s & fae S ¢

(F o @l B I R
(@) vkl 3 dm o F:7 & R Ge @ 99 awl abE
(M) R @ Rl

12314 [PTO.
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BCM/M-18

INSURANCE, FINANCE AND LEGISLATION-II

Time allowed : 3 hours]

Paper-BC-406 (VOC)

[Maximum marks : 80

Note :- Attempt five questions in all. Question No. 1 is

. compulsory. All questions carry equal marks.

e i~ 3o G 997 B I I 1 997 GeE-1 AFE &1 7o 5o

1.

2.

% 9% g7 &1

Compulsory Question (Hfard ¥5)

Write short notes on the following:
Frefoiee w dira Raler fife:
(@) Functions of Insurance

T % B
(b) Insurer

St
(c) FirelInsurance

AR S
(d) Double Insurance

& S
(e) Residuary Dividend

Y AT
Explain the nature and sources of Insurance surplus.

S SEd @ TR 9 @l @ Raeer #ite

12315 [Tumn over

(2)

. What do you mean by investment of Surplus and Reserve? What

are its basic principles? «
o AR wog & RfEr § w1 o 37 39 Ry R
T 27

. Whatdo youmean by Life Insurance? Explain in detail investment

policy of LIC.

ST 91 § oY 1 guEa &7 Siaq S fem @ Rt St
H O B |

. Describe the main features of Insurance Act 1938.

7 offafrem, 1938 & qeA el @ el i |

. Describe the organisational structure of LIC.

S 7 FW 3 S o & e S |

.” Discuss the main provisions of Insurance Regulatory and

Development Authority.

%ﬂwﬁﬁmmﬁﬁnﬂﬂsﬁaﬂﬁwmﬁﬁiﬁﬁg
I | :

. Discuss the Investment Policy of GIC.

g S frm @ RfEe g & oaeE Sl

. Explain the role of Export Credit and Guarantee Corporation.

Pratd =9 q@r RS FM @ T @ A B

123135
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Printed Pages : 3

Time allowed : 3 hours]

BCM /M-18
ADVERTISING -II (ii)
Paper-BC (VOC)—405
[Maximum marks : 80

Note :- Attempt five questions in all, Question No. 1 is

1.

compulsory. Candidate is required to attempt four
questions from remaining eight questions, carrying 15
marks each.

Answer all the following questions- 4x5
frafafed & S At
(@) Give some measures to improve client- agency relationship.

(b)

©

@)

©

TeF-r dadl F GUR A B FB 9 qad
Difficulties in o<m_§sm the advertising effectiveness.
R wemEsieRn @ qedih @ B |

Role of ASCI (Advertising Standard Council of India) on
controlling the unethical Advertising.

I3 Rt & Fae $ e sl ASCI (fse s=
Fofte) A g W ER ol %)

Give any four suggestions for controlling excessive
advertising.

i R @ Freee #3 3 $E a) gee 3
Evaluation of commission system to remunerate the
advertising agency.

e o B aRefhE 3 B FeE R @ g
|

12316 , [Tumover




(2)
2. How canan advertising manager evaluate the effectiveness of an
advertisement. Explain in detail. 15
% RO yeeae, 5 g R @ gemaEsiicar # A awd
3, PR & fad)

3. How advertising agencies get clients? Give the reasons for client

turnover from ad-agency. 5,10
e watadl BFE UeR aEe O S &7 Tew B [&ed
Rl B1E @ IR H AT FK

4. What is advertising agency? Explain the different types of ad-
agencies. Is it absolutely essential to use the advertising agency.
3,84

R wore @ it R7 R wofel @ Rt gl @
e F¢1 A RE Catadt B A U R AEeEE 87

5. Write in detail the organisational structure of Advertising Depit.
What functions are performed by the Advertising Department of
abusiness unit? : 8,7
R R & deore R @ R @ e o cEas
Mﬂmwmﬁﬁgﬂd%@%ﬂnﬂ%%

6. Whyisitimportant to measure advertising effectiveness? Ifyou
are an advertiser, would you spend your money on pretesting or
post testing? Why? 6,9

RETae 3 TRIEE # WO @l LT 37 OFR o U
RsTewe &, = oY RS & e & @-aaa iy &
AT O a1 IW-gaeer By w1 ol it

12316

7.

(3)

Discuss the legal provisions for regulating the deceptive and
misleading advertising. 15

ey 7 e H A R @ Pt B 3 R, R
LA g B o w

Explain the various functional departments of an Ad-agency
organisation. Which factors should be considered, while selecting
the Ad-agency? 8,7

% RS O ded & Al wrtee Rent @t aren w1
% e o=l @ O § B e @ e | @ S e |

Discuss the relationship, between advertising and ethics. How
unethical advertising is controlled in India? 15

fsmes T MRear ¥ #1999 ¥7 9na § oo fasoet ) R
TR Fraeor e o g 87

12316
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BCM/M-18
PERSONALSELLING AND
SALESMANSHIP-II

 Paper-BC-406

Time allowed : 3 hours] [Maximum marks : 80

Note :

qe

Attempt five questions in all. Question no. 1 is
compulsory. All questions carry equal marks.

T Qi 7o & g -Aorg ) g9 . 1 Giard 81 aeft geat
3 ofF G &1

Compulsory Question
(shard g¢7)

1.  Write short note on the following :

(1 Kindsofconsumer servicesin selling
@) Distribution Network
(i) Sales Mannual
(@) Order Desk
(v) Different type reports in selling.
Prefofan o dfte Rl #ifvw
@) fepg # &ar dawet & yER
@) e yER 8
12317 [P.T.O.




(2)
(i) s Falre
(iv) OIRY 3@
(v) Fora &3 % 5@ # oM g fafe Raet & fRawer £

Define qualities of an effective Sales Manager.
T GE ReR g9 & o0 & a a1

Write a detailed note on selling as a career. What are its merits
and limitations ?

foera @@ U9 @ &9 A v W e arew k) % Tme
wd dmell % fawg 7 ol &t

Explain in detail various techniques used to improve
salesmanship.

Rl ) e & g S B R A ) o1 A R
dEH W AT B

Define the role of Distribution Network Relationship in modern
selling.
gt R & &3 et seR deedl & Aee WO T
T |

What are the objectives of Sales Mannual in the field of selling?
What are its merits and limitations ?

fera & 89 ° fof Rl & |1 2w ¥ 3o swahar o
dnreit @1 aoie &y

12317

(3)

What do you understand by periodical reports in selling ?
Explain the role of periodical reports in achieving the sales
targets.

faspg § armafys RO & = afmmg ® ? Rsa s2edt  wi &
amafyes RO 3 98 & 9N B

What do you mean by Cash Memo ? How it is useful in
maintaining the record of sales.

da A @ 7 g R ? faseg deed) oniwet @ ded F dimy
ST F: q BN

Discuss the challenges of personal selling in modem marketing,
sy faaer & & o fsrr @ dafraa ARl At arem i

12317
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5 e = )Mr BCQ/M-18 12318
SIECEAC T 1 E T o  r B
0 REp c MANAGEMENT ACCOUNTING
) B.E.
BC-601
(2) P/V Ratio
(3) M.OS. Time : Three Hours] : [Maximum Marks : 80

9. Explain the meaning of Marginal Costing. Discuss its Note : Q. No. 11s compulsorv. Attempt any four questions,out

of remaining eight questions.

~ Ne

WA HEA 1 o ' vW wn v W OH R AN
U ara-fafy =1 awm Tmeme | soet SuhfE g gy Hife |
et #1 gl s

usefulness and limitations. 3+6+6=15

1. (i) Describe any fowr functions of Management

Accounting. 4
YaEId iEEd H T R FE gas |
(il)  Explain the techniques of Cost reduction. 4

AR W OFH] FI GFEAIRl H1 FUH FHINT
(ili) What are the advantages of Total Quality
Management ? 4

FA O YEEH Fw O ad 7

(iv) Mention five items each of receipts and payment in

cash budget. 4
g 992 § WG UF P F 5-5 WA S Ieerd
FHIfT |

(v) Enumerate classification of  Respousibility
Control. 4

~ o~

sEfae F31 F G FIAC |

L-12318 6 18,566 (3-55/3) 1.-12318 P.T.O.
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L-12318 A

Deiine Budgetary Continh, Describe s

hudeetary control. 5+10=15

g fFa=m F=t it

ERIEL
“Responsibility Accounting is an important device for

control.”-Discus

& FEhFmT =T

T FETTT

What is meant by Cost Contrel 2 Discuss its proce
technigues.

~

TR HIA0 € 1 HVE %

.Vy)
1 T

W hat is standard costing and how would veu distinguish

it from budgctary centrol ? 5+10=15

ST OIS EFA [AfY 9 5 gw 9w Ty g e

° FH wFR o v

7. U badsited expenses for po

overheads

factory 22 given below

Fixed overheads ¥ 40,000

(Selling Expe

—

(Administrative Ex

level of productiorn.

30%6

s—Direct

; 20% fixed

) < 20,000
fixed

production of

wetion of 5

000 units in a

—
/]

Per unit ¥

N

~
J

_—
[en IR V)

12l o & e o e

Assume that the administrative expenses are rigid for all

(3-55/4) 1,-12218

TF HEE T 5,000 THEE F SOET © goeE o A9

gfd 3T ¥
35
15
10
8

P.T.O.
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-Gl
fagra =5 20% Turh
gEAE =g ¥ 20,000

faaem =3 30% werdy 5

B 00 W

)

FOHA B R gl W OW WHE W E | 98 A

.
N

) 4000 TFE
) 2000 T
= # fog U 9WE qan site |

_Q‘l LS
> o

8. The following infurination relate to the present position
ot an qzmmbmﬁ_.:ﬁ firm operating at 70% capacity lev m_
B.EP is % — %0 Crore
P/V Ratio—- 40%;

Margin of satery in T— 20 Crore

The board wt itv lasi mieeting have taken a decision to

increase outpui 0 98% capacity level. The following

modifications will be made

(i)  Reduction m selling price by 5%

(ii) Increase in fixed costs by ¥ 8 Crore (including
depreciation on additions but excluding interest
burden).

(ii1) Reductior: in variable costs by 5% of sales.

L-12318 4

(ivy Additional finance for capital expenditure and
working capital—% 20 Crore.

(a) Determine the sales to vield the existing quantum
of profit plus additional proi it of ¥ 4 Crore on
account of increased activity and 20% interest burden
on fresh capital. y

(b) Aiso determine the following

(1y BEP
(2) PV Rauo
(3) M.OS. 15

Yo, @I W UREfem TE SN WH R FEEH
gﬁﬂﬂm&dﬂﬂﬁﬂ@mw

z fag T—80 FZ

AT ST 40%

mq,ﬁ.%ﬂa%moﬁm

a3 o= WM SRR WROF 98% TE FgH

_ﬁqﬁﬂs_ﬂﬂ@m@amﬁiiw

G) foma g@@ H 5%

() woEl @ # gfe 8w T (afafem gfg W
erd wifte wW gy, W A H Bied ) |

Awwquﬁmﬁﬂmﬂaﬂmmﬂﬁwﬁﬂ&_

(v G owm 3w 4R ® faw s
FrEz— 20 HE T |

(3-55/5) L-12318 5 ' P.T.O.
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BCQ/M-18 . 12319
AUDITING
BC-602 (Theory)

Time : Three Hours] ~ [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
of five short type questions carrying 4 marks each 1s
compulsory. Attempt four questions from the remaining
eight questions carrying 15 marks each.
wl e g % I A | qe " 1 et
T oo o @ 4 of% £ | YW e WA § 9 9N
T FI, WEE T 15 ¥E F ¥

1. (a) State briefly the essential qualities of an auditor.

TF FRHE % qod T UEY H §as |

(b) How does continuous audit differ from interim
audit ? Explain any four points.
T Staem fafm swem ¥ e TR i ¥ 2
frsl - faged =1 Iv Aty |

(c) Is internal checking system an automatic ?o\ommm ?
1 SR Frie yoTel Uw e WA E 2

(d) Give rwo examples of misconduct as defined in the
Chartered Accountants Act. 1949. 4
wee ymsee efuftam, 1949 H ofiwfd  yeemEm
# a e G | .

(2-70/6) 1.-12319 P.T.O.



h

(¢) What are the matters to be considered while

preparing report ?

2 ?

What do you understand by Auditing ? Briefly explain

the advantages and limitations of Auditing.

-

SR Q3T S GUEd £ 7 e & Al ud |
1 &9 | FUH ST |

Discuss the various types of audit programmes. What are
the points to be kept in mind while modifying audit
programme ?
sEE HEEA B AR TER w1 fEeET Fiag | siwe
FHFET § Govd w@ geg fEA-fR awl woeam
@ e 2

What are the special points to which an auditor must pay
special attention in vouching receipts (debit side of cash
book) ? ‘

el (JkE T ® e ww) w OTHOE wW T
sfRers Y fRe faR W o qeEd: SM @ = ?

What do you understand by verification of assets and
liabilities ? How far an auditor is responsible for the
verification of assets appearing in the balance sheet ? -
Hoferel e T (3TRRE) & G ¥ o e
¥ 7 foufy few (foeg) o ok & wwfedl & T
% fau siRes FE F SoEE ¥ 7

L-12319 . 2

What is Qualified Report ? In what circumstances it is

considered to be necessary. Give its specimen.

it fare @ £ 7 aw fEA oRfefe § amEead
T 7 THE UFH A WA HifT |

What is investigation and its types ?

What are the different kinds of audit ? Give the merits
and demerits of each.

SiEe fEat WER 1 T € 2 WO & O W AW F
T | .

What do you mean by Professional ethics ? State
Professional ethics for auditors.

rEEtE AT | W A € 7 SwheE %
o =aEE e w1 ofiafia wifee |

(2-70/7) 1.-12319 3 19,100
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BCQ/M-18 12320
INCOME TAX-1
BC-603
Time : Three moE& ﬁmﬁ?aa Marks : 80

Note : Attetnpt Five questions in all. Q. No. 1 is compulsory
and answers to each part of Q. No. 1 should not be
more Emb one mwmm. ,,
iﬂﬁﬂﬂ.j1ﬂﬂﬁ.ﬂﬂﬂu T

1. (i) What are the provisions regar rding TDS on income
of Winnings from Lottery ” 4
welt & T .ﬁ%ﬁmﬁxﬁzﬂ%%

ey § oA YEEH T

(i) Write a note on ~advance Payment of income

Tax™. , 4
e 1 emm g W fowl fee

(iii) List out four duties of an Assessing Officer. 4
ft s ® SR FaeA faed

(iv) What 1s Belated Return 7 | 4
faetfira @ 1 fAEw FOE G

(v) Explain Refund of Tax. 4

T F FR wW FE

(3-04/7) 1-12320 P.T.O.



frefafea faarn 5 @ fafor a8 2016-17 % o w09

3 RO FINT
2. From the following particulars. calculate the total income z
of Mr. Bansal for the A.Y. 2016-17 S — _ 24.000
3 ..
HeE 99 9fq A 2.400
Salary per month 24,000 . _
v p _ TwM fem w 9fa 9w (R 6,000 wigs
Dearness Allowance per month 2,400 . .
frua g fGeett ) 4,000
House Rent Allowance per month (rent paid : . o o .
AHHE-gE ¥ 2,000 mifew feaE LS ® |
< 6,000 p.m. in Delhi) 4,000 \

HHRH-THI 1 TRAAE qeF T 30,000 € 1 [ AS F
TRAfAHET T GHFA T 1,800 | HEA & Fmin § fom
FO R 6,000 FW 3T T | AEA TR & faw o
@@mjﬁs%ﬁboo%ﬁﬂmﬁ%ﬂ%ﬂnﬁ

House property is let out on a monthly rent of ¥ 2,000.
The municipal value of the house property is ¥ 30,000.
Maaicipal tax paid is ¥ 1,800 for whole year. Interest

payable on capital borrowed for the construction of the

house is ¥ 6,000. Re-payment of house building loans - | e % 25,000 A R
taxen from friend is ¥ 5.000 and from Life Insurance X
Corporation is T 3,000. ofE d% T W S . 7,000
. | % e GifaeTe wUe e W e 2,000
I-terest on Saving bank A/c 7.000 M Y ® ﬂmﬂ g I . 4,000
Iierest on PPE. Alc 2,000 St e wifem 6,000
Ihcome from units of Mutual Fund 4,000 eSS Yifaeoe wve § SeEH 16,000
Lif: Insurance Premium 6,000 TS 999-99 VI ff ) a1fém = 4,000
Contribution to Public Provident Fund 16,000 UM &1 40 Fd H, SHEd, 2011 & QY T dﬂ |
Interest accrued on N.S.Cs VIII Issue 4,000

The construction of the building was completed on (3-04/8) L-12320 - 3 L P.T.O.

'st January, 2011. : ; . 15
L-1232¢ 2



A. B and C are partners in a firm, sharing profits and
losses in the proportions of 2/5th, 2/5th and 1/5th
respectively. The profit and loss account for the year

anded 31st March. 2016 is as follows

4 4
To Sundry Trade | By Gross Profit b/d  4,90,000
Expenses 1.01.800
To Int. on Capital By Int. on Securities 10,000
@ 15%
4
A 15.000
B 15.00
C 15,000 45,000
T ReniTo B 20,000
To Salary to B 72.000
To Commission to C 36,000
To Net Profit 2,15,200

5.00,000 5,00,000

Compute

(i)  The total income of the firm. ,_,_.s@ firm fulfils the
conditiors of sec. 184.

(i) Taxable income of the three partners in the firm B

and C are working paitners. 15

112320 4

‘A’ ‘B’ 9 ‘'C' wF wH H WERER ¥, W w-en
sEel: 2/5.2/5 @ 1/5 % eFwA § owied ¥ 1 31 W@,
5016 1 THATE B Al a8 wm ew-gl @ E
3 z
fafgy =i =@ 1,01,800 TFa @9 @@ 4,90,000

o =S R 15% wagfas w == 10,000
Z

A 15,000

B 15,000

C 15,000 45,000

B =1 famn * 30,000 .

B 3w 72,000

C =1 wHeH 36,000

S 2,135,200
. 5,00.000 5,00.000

() wH F FA AE F VA HKMGY, FH H0-184
F OTE W W F T

Gy wd # A GERR w1 oF-AmE @M w A
Ffqw | B T C WFET GERK ¥

(3-04/9) 1L-12320 5 P.T.0.



4. Write short notes on the following :
(a)  Working partner and his remuneration 8
(b) Assessment as a Firm u/s 184. 7
frefafen w s feofort fafen -
(37) §fFd FEER qu wRgHs
(9) w184 % dEd FH w1 HL-FAHr |

5. What are the various authorities envisaged in the Indian
Income Tax Law ? Discuss the ﬁoéma.om _Em Director-
General of Income Tax. | 15
ad ST fauE § R WimrE @ 9o
o % 7 T ® vgw FRwE @ SRR &
FHIY, |

6. What is meant by the expression ‘Best Judgement
Assessment’ ? Under what circumstances can recourse be
had to this method of assessment ? Are there any remedies
open to the assessee against such assessment ? 15
i Fol afer @ W o § 2w
= wgfa @1 fe wRfefl § o W € 2 @ W
- & faeg A @ U9 FE ITE T ?

1-12320 6

7. Describe briefly the procedure for filing an appeal to the

Appellate Tribunal against the order of a Commissioner
(Appeals). 15
FHT (i) ® e F fwg ariiw feepe §
IS FE W wEfEfT w1 odEw F avir FHif

Discuss the provisions of the Income Tax Act regarding-
prosecution due to lapses on the part of a person. 15
frel =afm g0 #fmm g9 F@ F gmw § s
safEm & s # s it |

Write notes on the Hoo,:ocasm :

(@)  Voluntary Return of Income 7
(b) Permanent Account Number. 8
frefafaa w feufral fafem

(1) Wfegsw oma &1 faaw

(9) WE @@ gemn |

(3-04/10) -12320 7 21,900
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BCQ/M-18 12323
mrm@mﬁﬁw‘ MARKET OPERATIONS

BC-604

Time : Three Hours] [Maxinium Marks : 80

Note : Attempt Five quesiions i all . Q. No. 1 1s compulsory.
FA UE Y F S - Hfn | oovE dem 1 ARNE

T

1. Write short notes on the following : Sxg=24
(a) Bull
(b) Lame Duck
(¢) Dematerialization
(d) Merchant Bankers
(e) Listing of Stock Exchanges.
frrafafem @ diya
(1) e
() fearfern
(¥) I
(7) =ORE
(3) TR 1 gHAEST

(3-04/1N1~12321 . | (4 RN




[ o)

3. What is Bombay Stock Exchange (BSE) 7 State in detail
the procedure of listing of Securities in BSE. . 5,10
A e AR E 2 A Wi A H s
qEEga # g w feEn ¥ 9w

4. What do you understand by the term Option ? Write in
detail various types of options ? 5,10
fareT § SToE w0 sfam € 2 fafe wER & faed
=1 fowm 9 fofe |

5. What is meant by the term Future ? Explain in detail
different types of Futures. Also provide the mechanism of
future. 384
wRR A S @ At ¢ 2 fafi TR & e
fora @ T FRTT | WER # AHA-dT F o s

6. Explain in detail the SEBI Regulation, 2009 for the Public
issue of Shares. 15
ﬁ%%ﬂﬂ%ﬂ?ﬂg%@m@%nﬂﬂ 2009

¥ U HINY
1-12321 2

What is Secondary Market ? Explain the major problems
or defects of Secondary Market. 5,10
qeEE AR N E 0 TEME Al w1 g jeeed

Explain the process of Book Building. What are its
objectives ? Has this process really taken off in Indian
Markets ? . 6,5,4

What is Foreign Direct Investment (FDI) ? State explicitly
the various resources of FDIL 5,10
el weme fraw Fm € 2 el yew fEw % fafve
Hl F fER 4w |

Write short notes on thie following : TVa%2
(a) FCCB (Foreign Currency Convertible Bond)

(b) GDRs (Global Depository Receipts).

frefafes  dfaa feafrl fafae

(31) faeit gm wRedE s

(7) fovaendt = Wi

(3-04/12)L.-12321 3 21,000



Roll No. cviveeiicinicencnnnnne Total Pages : 03

BCQ/M-18 12322
INTERNATIONAL MARKETING
BC-605
Time : Three Hours] {Maximum Marks : 80

Note :  Attempt Five questions n all. Q. No. 1 is compulsory.
Attempt four questions out of remaining eight questions.
FA U YT H IR AU 1w "' 1 ated
TUW A WA W ¥ W v w e Gfwg

1. Write short notes on the following : 5x4=2¢0
(a) Concept of Export zm%amsm
(b)  Product Standardisation
(¢) Skimming Pricing Policy
(d) Media Planning ;
(e) Global Logistic.
frrefefen W wfa feofrl i
() fafa fawom =1 sy
() SER JAMR
(9) HaRER wHhiHad =i
(z) ifem frarem
(3) aftgd GuR o= |

(3-43/1) 1.-12322 P.T.0.



What do you mean by Foreign Exchange Entry
Strategy ? Explain all these strategies in brief. S+10=15

mw%mﬂzﬂﬁ%@%ﬁﬂmmwwﬁﬁ‘

w1 Gt guiF wifee |

Explain the different stages of product life-cycle
in international market and also discuss their
relevance. 10+5=5
ﬁﬂ@&ﬁmﬂmmmﬂﬂ%ﬂ-ﬂ‘%ﬁﬁamﬁﬁﬂ
qaeEy |

Intenational

Payment. 10+5=5
s spae w1 fafee fafel @ s HI |

Explain different methods of

Describe the creative challenges in International
Advertising. 15
CE I ERIEE Y HAHS ml__ q4i F Al HiST |

Elaborate the different methods of personal selling in

International Marketing. 15
srRig fawm § dafws faed w1t fafeal =t

fag=m =ifs |

Explain the various techniques of sales promotion in
International Marketing. 15
e fauom 9 fawa Haga w1 fafq= dwAl H
oA HIEY |

L-12322 2

8.

‘Discuss merits and demerits of trade fairs and

exhibitions. 15

%ﬁﬂ%%@nmsiﬁm%%m_

What do you mean by Warehousing ? What is the necessity
of warehousing operations in Export Marketing ? 15
woeRe ¥ o9 @ wHe § 2 frafn fywom # eoeRe
F W TN AEEHFA T ?

(3-43/2) 1.-12322 3 16,400




Roll No. ..cniveenreneerrnnnne Total Pages : 03

BCQ/M-18 12323
FINANCE AND TAXATION
Opt. Group-I
BC-606
Foreign Exchange Management

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. Q. No. 1 is compulosry.

~ Attempt four questions from remaining eight questions.

FA G WA ® SW AR | Y e 1 shard
W oaE oy ¥ ¥ WR wer o wifg |

1. (1) Explain the functions of foreign exchange.
oot foafr & =l %t =ren w9 |
(i) Distinguish between Fixed exchange rate and

Flexible exchange rate.

feer fafmm < qon aiich fafrm — § ovm o
Qi i
(iii) What do you understand by Full convertibility and
Partial convertibility of currency ?
2 1 qo1 wRedaayfafem o st IRed e
¥ am ;W OgEE ¥ 2
(3-52/15)% ~12323 PT.C.



L

(iv) What do you mean by Currency Swap ?
o W STEE-wS! (@) & @ eI 7 2
(v) Explain the objectives of International Monetary
Fund (IMF). ‘ 5%4=20
sadem difgs w (IME) % Sevdl W o
At

What do you understand by Foreign Exchange ? Discuss
the need and scope of Foreign Exchange. i5
e R W e W WER €2 feh fafma =
e Fo wTEeE w1 se Fe |

What is Exchange Rate 7 W hat is the need of determining
exchange rate ? Critically explain “pyrchasing Power
Parity” theory of exchange rate determination. 15
sy o & 0 fafrma < Preien FOAE ATEIIFA
3o ffma w P & A IR g’ fagla &
AT SARE I

Explain currency convertibility in India. Alee < plata 15
advantages ond drawbacks. i5
e H SRR & sqEm Wi | TR
e wur wiEE w1 =e e

Explain main provisions of Toreign Exchang:
Management Act, 1999 (FEMA). i5
el wm weA afuleE (FEMA), 1499 & TEH T

RELRIR ) . X 3 2.6080

What is meant by Foreign Exchange Risks and
Exposures 7 Explain various types of foreign exchange
exposures. 13

iy ffTa WS Ae A TR 77 fae
, sifimi & fafes ,

‘Write rotes on the following : 8§+7=15
{(a Contraventions and Penalties under FEMA. 1999.
(by Speciu Director (Appeals) Under FEMA, 1999.
frefafea = fewfora fafed -

(a1) M (FEMA) 1999 # s SeeEs A SAES
(3) W (FEMA) 1999 & s T s (i)

Explain the main functions of International sopetary Fang

(IMF). Explain the role of IMF in the grow i of develupmg

countries. 15
i S B (M) & 1 F79 Bl 2 ST
o dvi ® fawra § owEl e R SN

.

vy

What o vou mean DY S Thawing Rights (BDEs)

Fxplain the advoniages and Yimitations of SDRs is
fror wratw ST (SDRs) WO Fy ATwE 8 Y

G

Fage AT BTN % el me wTAl @i SHEH HITAT



Roll No. ccociecenceecnrnnen. Total Pages : 03

BCQ/M-18 12336
COMPUTERS APPLICATIONS
BC (Voc)606
(A) Theory
System Analysis and Design

Time : Three Hours]| [Maximum Marks : 60

Note :

Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting one question
from each Unit. All questions carry equal marks.

FA T WA F IW GO | v gem 1 e
g UOF THE W UH T T T, WR W SR
I | gdl vl & ofF wE €

Compulsory Question ( 31Fam 797)

1. Answer any four of the following in brief : 4x3
(a)  What are the primary functions of a MIS facility ?
(b)  Describe the various methods of Investigations.
(¢) What is Closed System ?
(d)  What is Schematic Mode ?
(e)  Differentiate between Physical and Abstract Systems.
(f) Explain in brief various types of system

requirements.

(3-54/12)] -12336 P.T.O.



wﬂﬂﬁmm@i%%ﬁﬂmﬂﬂﬂﬂﬂa.
(1) TRIRTE. gam W wefgw w gm0
Evﬂﬂﬂﬂwﬁﬂﬂﬂﬁmﬂﬂ@d

(R) Fase faeq a1 & 9

(7) faifer wee =1 2@ & o

(®) -ﬂwﬂmm@mﬂﬂmummﬁﬂ%mﬂﬁﬁ%jd
Aﬂ@ﬁﬁ@ﬁmﬁﬂa%ﬁﬁﬂjﬁ

2. Describe on fact finding techniques and Tools for
Documentary procedures amd Decisions. 12
+® 9 1 IR Hifdg

3. Explain the various fact finding techniques used in System
study. i2
Hﬂnﬁﬁﬁ&«iﬁﬁﬂliﬂ?ﬂmgﬂ
A F A Fh

4. What are the various types that are to be considered

while implementing a new system ? Explain them. 12

@iﬂiﬁ%&ﬂmﬂﬂﬁg@?ﬂmﬁmﬁﬁ_

S. Explain the implementation and management of

information system resources, 12

ﬁﬂuﬂ@d@i%ﬁaﬂﬂ%ﬂﬂﬁﬁ%ﬁ

L-12336 2

What considerations are invoived in feasibility analysis
Which consideration do you think is the most erucial 2
Why 2 x
P famw

Describe the role and tasks of systermn

12
fen 5 FYfTE o et 9 v =y T
Discuss the concents of MIS and DSS. How are they
related ? How do they differ ? 12

TA.SETH. &1 SLmgwy, 5 ﬁmﬁﬁ.ﬂﬁ;j%ﬂ;
mmﬁﬁmﬁﬁwvm%ﬁﬁﬁﬂm

What ievels of quality assurance must g system meet ?

W)

Explain. iz
T S & ') OF R wonel § fyer R E
U FifS

(3-84/13)-12336 3 1,600
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BCQ/M-18 12327
STRATEGIC HUMAN RESOURCE
MANAGEMENT
BC-610
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
wA U WA & SW AR | T T 1 st
?

Oo:ﬁ:._mc-.% Question ( 3= 797)

1. (a) Explain link between HR strategy and business
strategy. 4
HR #ifn ok smoafrs sef § @=m @
T HifTg |
(b) Write a short note on change in characteristics of
the workforce. 4
FHAE 9 F favivaet § oiedt w s @fhw
feooft fafe |
(c)  What are the different components of compensation ?

Explain it. 4
sfard & fafa= sm ow=w ¥ 2 ool wifen

(3-42/15)-12327 P.T.O.



(d)  Explain process of bench marking. 4

(¢)  Why are the employees of an orgznisation the mos!

valuable intangible assets ? Explain it. 4
T HTeH & FHON Te9 ®indl oevy wwfa s
g 7 T = !

“The role of strategic Human Resource Management in
formulating and implementing organisational strategies is
crucial.” Explain it. 15
“HTE F HwEA TR SR fRaren § srife aedE
WY ® giHEH TEd Heqy 8 17 9uE iR

Discuss the recent trends in strategic HRM. How can we
decrease the litigation related to HRM ? 15
HEAIfTR AT HEET Yo S o ygiiat # gaed |
HRM ¥ grersdt w FY w9 fea w1 wE
g7

What is VRIO Strategy ?
improtance. 15
VRIO ®rHif 01 3 ? fawingds sa) gu weww &1 @i
HIFTT |

Explain in detail mﬁmz:m its

Describe the factors that crganisation need to tske intc

1
I nuMman resource

s o

,\»»L» 4l :Q

sccount as  part of %w

LN

DroCess,
Tl m.ﬂmw .mmn. Um }umm*! .mnﬂ.mwm.ﬂ .T e Jf.qm «.JJ.J.MHU %Lﬂjﬁ

WM W O e 9EvgE I T )

1-12327 2

Explain the role of human resource manager in merger
and acquisition. 15

A ~e
.@ﬂﬁﬂ— @“,_A HHIET =

g |

What is a Career Path ? How do you develop a career

path for employees in a consultancy firm ? Explain the

process. 15

Sifas wo w0 8 7 wWeviEt v o wdafE w foag
Shfeshr war =1 faerm e &9 S5 7 wiE Tmes

What do you mean by Human Resource Audit ? Explain
the process and significance. 15

ﬁﬂmﬁﬂgﬁﬁms@%ﬁﬂﬂmw ? gfFan @R
HEW & qUM HITIQ

Write in detail the concept of cultural differences in
business operations. 15

ﬂmﬁ@ﬂ:@@@g »ﬁ@.@ﬂ?ﬂﬂiﬁﬁéﬁ
fowrgEs fafem |

(3-42/16)1-12327 3 400



Time - Three Hours]

Note

(b)

(c)

(d

(e)

®

Total Pages : 03

"ww.m (x 18 12335
S

AACCER OOMPUTER APPLICATION

WO-mom

IMaximurm Marks : 60

ecticns i all @ Mo 1 is compulsory.

ey T ; P o 5
5ogw R L W WeT ..,u.,_.m?E

Cempulsery Question { sifrard usH )

Write short notes on Zoémm_acsw.
= 79w diga feorlt fafeT |
Write two example of C2C Model.
C2C Wem # ¥ v Y
Write short note on Credit Card.
#fer w1 W dhyw feorft fafee

Write short note
ATM T Eia=
What is Internet
TRET TR

on ATM.
feaquit faf@n
Explorer ?
s 7

What do vou mean by Security O@Emomﬁ ? Ex2=1

5

g g v § 7

(2-4517) 1-12335(TR}



2.

n

1.-12335(TR)

What is Computer Network 7 Why do we need it ?
Differentiate between LAN and MAN. 12
Feet T 8 7 & TuE eTawaEa F § 7 LAN
dem MAN ¥ @R SIS

What do vou mean by OSI Reference Model ? Explain
the function of each layer. 12
o%%ﬂﬂ&%ﬁﬂﬁw.uﬂﬂ@ﬁ%
1 & GO HIY

(a) What is e-Mail ? What are its features ? Explain
the working of e-Mail. -6
ine w7 ® ) o fadwand saRy | A R
FE F SAE W | |

(b) Explain Google Search engine with its features. 6
TE @ g5 W faswarell wfed soren &S |

(a) What is an Optical Fibre ? How is it used for data
communication ? memE it with advantages and
disadvantages. 6
st WEE F § 7 T T WO
s &9 fr wwn ¥ 2 el aen e e g
gofq @ | ‘

(t) What is 2 Wire Pair 2 In what situations are they

suitable for use in data communication ? r\waS it
with advaniages and disadvantages.

ﬂ%qﬂﬂwvﬂm.ﬁ%ﬂmnﬂd%@a
sfeq Rt =0 € ? TR sl e Wi & A
wHifere |

[ &

(a) What is E-Commerce ? What are its features 7
Also explain the elements 8; m,ﬁoEEQaa ? 8
% ol wO m% mob%ﬁ

{b) Explain B2C Model with exaraple. 4

B2C wied 1 wEeT afsn W ]

What do vou mean by Electronic Payment System ?
Explain different modes of Electronic Payment System.

12
ol R TR @ ST w W ¥ 2 W
fofer Tl sy |

What is Information ﬁoogoyom% 9 Explain the impact of
IT on Busienss ? 12
ﬂﬂmﬂ@ﬁwwﬂﬁﬂﬁ%%ﬂmﬁ%ﬂ
HifST |

Write short notes on the following :

(@) Iuiernet Explorer (b) Web page

() G2C. 3Ix4=12
frfafiaa W i feoaforal
() TEEL

(g 32C

(2-45/8) 1.-12335(TR) 3 1,600



6.

What is the need of operating system in a computer ?

Explain various types of operating system along wtih

their characteristics in detail. 14
FX H AR famm o smaveswa € 2 faie
YRR & Sfmfen famm &1 oo et fasivaed wfm
FIST |

(@) What are the various services available on
Internet ? Explain in brief. 7
e § T 91 At fafi Samd @ § 2 e
¥ gviy wifwg |

(b) Discuss various applications of computer in business
in detail. _ 7
R A R ® fafe= ergwr @ fammw @
Fufq HifST |

(a) Suppose you wish to purchase a laptop. What are
the things that should be taken care of while
“purchasing it ? Explain. 7
FEE Y AW AT Tl #3901 W T
Wa TR FW w9 R 9™ w1 o=m @
=fsw ? avlv =T | ‘

(b) Explain various types of memory used in a computer.

: -
W FEX W TR 0 @ B v
T | |

Explain various I/O devices used in a computer along

with their specific purpose. 14
F ¥ Ww A= Vo feawdl w1 ot 3= faeiw
IRW & WY HC |

L-12337(TR) 4 150

RO No. wocorvriienerenncrranane

Time : Three Hours]

Total Pages : 04

BCQ/M-18 12337
COMPUTER APPLICATION (PART-A)
THEORY (OMSP)
BC(Voc.)-605

[Maximum Marks : 70

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

In addition to Question No. 1, attempt four more
questions. All questions carry equal marks.

FA U YN B SR AfE | W g 1 e
21U TEm 1 % e wR WA ek wfw
TEE Ty B sie wE ¥

(a) Define Computer.
Frg H g AT |

(b) Name any four services that are available on both
mobile phone and a desktop.
HiTsd Tom SR I R ST R oI Qened
% W fafee | .

(¢) What is DOS ?
DOS =T § ?

(d) How can you create and print a file in DOS ?
DOS ® & R % #¥ I T § au fie
FTHET T ?

(2-45/9) L-12337(TR) . ‘ P.T.O.



3.

{¢)  What is -the purpose of header and footers in MS-
Word ?

TITE-98 ¥ 8 a9 TH B T I § 2
(f)  What is the procedure to logging in LINUX |

Operating System ? 14
LINUX @fifen famen & «ififm = =0 wiwma & 2

How can you perform following in both DOS and

LINUX ?

(1) Copying a file

(ii) Viewing the list of files and directories in current
directory.

(iii) Deleting a directory.

(iv) Changing permissions of a file.

(v)  Saving output of a command to a file. 14

DOS @ LINUX ¥ frfafed & 48 wi¥| =% 953

g2

() Tk wEa H HA wE

(i) F2 sl d wed o eEEd W ogs
9T

(il) eEEl = feefe #w

(iv) s WRA ®1 AT wi IRafdd s

(V) T Tra % fou #9me @1 omeege Sar wem

(a) Write the steps to perform mail-merge in MS-
WORD. - 7
TTE-9E 4 AA-Te quiH @ o fafen |

L-12337(TR) 2

(b)

(®)

(b)

(a)

(b)

What are :98% functions ? Explain any five such
functions in Excel in detail. ,q
AR FRE FM T ? TRE ¥ W vE Geee
F fomr ® guiv wifsg

How can you insert sounds, movies and clip art in
wo,ﬁ_om-wowﬁ ? | 7
Power-Point ¥ =@f1, geft wen faerw mﬁm H HY
T W GRY § 2 |

Explain various types of views used in Power-Point
in detail. T
Power-Point ¥ ¥ga mwm— % fafe= worl # W_.ﬂd
o HIfvT |

Explain the following options in MS-Word : 7
() Change Case |

(i) Spelling and Grammar. 7
WEE-E | Frefafen sier #t s #ifig
O P (FRF) W |

(i) W qo TR 7
What are the different types of cell references used .
in Excel ? mxﬁ&b 7
TR F e W @ R TER H w ? FofF
HifST |

(2-45/10)L-12337(TR) 3 | P.T.O.
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BCQ/M-18 - 12338

PROPERTY AND LIABILITY INSURANCE-II

BC{Voc)-605

Time : Three Hours] [Maximum Marks : 80

Note :

Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of the remaining eight
questions.

F UE T F IW AT | W gem 1 sifEd
T e I AW W UR U ® sw AR |

1. Explain the following upto one page : 4x5=20
(a) Insuranice problems of Clubs
(b) Professional Liability Insurance
(c) .ms?o% of Losses
(d) Functions of Adjusters
(¢) Underwriting of Liability Insurance.

frfafea #t =ren w gy § Fif .
(1) =« H oA GEE

(9) uveR Iifaa &

(|) wf/eR 1 gdem

() TS & @

(3) =fam &m =1 sfwigs |

(3-04/17)1.-12338 P.T.O.



1.-12338 2

Explain insurance problems of Hospitals. 15 7.

ST F A TS w1 e HRA |

Explein the nature of losses and also explain how these 8.
are m&cmﬁma. | 15

/AR &1 UG FT e FIT 991 S GHEsE Y

T T 2 THE ot smem sty |

Explain the following : 8+7=15
(a) Responsibilities of Loss adjusters

(b) Finance of Liability Insurance.
frfafeq =1 =ren Fifvg -

(3 T & wHEew w1 el
(F) fgm < =1 fam

Explain the procedure of preparing claims statements. What
are the various documents used in claim settlement ? 15
TEn foener &) dudt # wfEwm w1 ool wifew | ogE
fioem & HH-S9 T@EY TgRE BN § 2 |

Explain the following : 8+7=15
(a) Marketing of Liability Insurance

(b) Proiessicnal Package Contrascts.

(37) g = o Tl
(9) U THH TH |

(3-04/18)] -12338

Explain Apportionment and Valuation of Loss. 15
faurem iR e goaisa w1 =ren e |

Explain the requirements of the insured in the event of
Loss. 15
B w1 feafa # Sifim =t Seal @ IR H IRy |

What do you understand by statutory control over liability

insurance in India ? Explain its main provisions. 15
TRa ¥ Tfr o W duifrs feEw 9 ey = wweR
7 T I e w1 s Sy |

W
e
U
<



Roll No. ..ccvrvermrerinnn. Total Pages : 03

BCQ/M-18 12339
GROUP INSURANCE AND RETIREMENT
BENEFIT SCHEME-II
PPIBC-606

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

®A U WA F IW AT | g wem 1 s

T
1. Write short notes on the following :
(@)  Unrecognised Provident Fund 4
(b) Sec 80 D of Income Tax Act regarding Health
Insurance. 4

(¢)  Objectives of Pension Scheme 4

(d)  Benefits of Group Insurance 4

(¢)  Gratuity. 4

freafafen = dfam fowfrd fafen

(31) e wifae= e

(9) @ §9 % o=y 9 s afufien @t ug
80D

(F) WH I & R

() "Hfes sim = a9

(3) ity |

(3-54/5) 1.-12339 P.T.O.



Explain the provisions of Tncome Tax regarding
eacashment of earned leave. 15

st sEEw qEE ® FEs T afufEm ®

YETEl 1 GHARY, |

Explain the tax treatment regarding amount received from
Provident Fund. 1%
&E@M&m@ﬁﬁd@%ﬁkm%ﬁ%ﬁi%
CRIELN

What is link of Insurance with Taxation ? Explain in
detail. 15
FouE TS A § w e €7 fawmgEs Wt |

Explain the various retirement benefits applicable to
Central Govt. Employee. 15
FERY |

Explain. the following © 15
(a) Retrenchment Compensation

(b)  Pension and Commuted Pension.
frefafad &1 = &I

(&) weA &l
(m) e wE ded w1 UHEEd T

L-12339 2

7. Explain in detail the importance ol ata Processing in
computing retirement benefits to employees. 15
R ® fu TEfeft ® W T oupe Ty (70T
F H) TE o spfia fawr W OAERY )

8. Discuss the various Group Insurance Schemes in
detail. i35
T A dern # fafe W F tararyEs o
FIeT |

9. Write short notes on the following B
(a) Recognised Provident Fund
(b) Medical Allowance
(¢) Leave Travel Concession
(d) National Pension Scheme.
fmfofor W Hhaw femfr fafey
(e1) Wi WRER W
()

(g) E&H A Hdl
(7) T T AR |
(3-54/6) L-12339 3 350
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Total Pages : 03

BCQ/M-18 12340

MANAGEMENT OF SALES FORCE-II

Time : Three Hours]

BC-605(Voc.)

[Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

1. Explain the following :

(@
(b)
(©
(d)
(®

FA U IE B W A 1 T gem 1 e
-

Compulsory Question ( 3tfard we)

5x4=20
Features of good sales forecasting method

Limitations of sales budget

‘Objectives of sales quota

Uses of sales budget
Sales audit.

Frafafea «t =mem s @
(31) o=t wEigam fafy &t v
(F) fowg s =t duR

(|) fora w1 3 )Yy

(%) fawa o2 & IgEm

(3) fawa oimaor |

(2-44/12)1.-12340 . P.T.O.



Define sales force planning. Also describe need and

imoortance of sales force planning. 15

frrT wifE P @ oRefa wicE 1 fawa wfw
fraRE # SevEEd au Hed S aEEEd |

Define Sales Forecasting. Describe the procedure of sales
forecasting. 15
faga AR 1 gRofia e | fasea qaigee whe
F A HiE !

Why is a sales budget prepared ? What points will you
consider while preparing sales budget ? 15
fo wwe T T S € 2 fawd S S W S
T @@l w1 wE @ ?

Why is it necessary to fix sales quotas ? What are the

difficulties which may arise in fixing quotas ? 15

fga w w1 ko @ sTevEs € 2 feea wa #
frafor § @ HfeTRE ot § ?

What is meant by Sales Territory ? Describe the benefits

of dividing sales territories. 15
fma &7 ¥ w1 ommE £ 2 faea &9 fasem % s
) fadem wiR |

L-12340 2

7.

What is meant by Sales Force Control ? Explain various

uses of sales force control. 15
fmm vt BT 9 o @ wwem € ? fawa wie
frror & fafir= ST &1 e sifsg |

Explain ethical considerations in sales force management.

What are the limitations of sales force management ? 15

S wifE wa & forg Aifvw a1 e wifd |
faopa e wE & oF duE € ?

What is Sales Em.s&:m 9 How one can get good sales
plan ? . 15
fo oM M ¥ ? TF TSt fakd AT HE W
T 7 ? .

(2-44/13) 1.-12340 3 250
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BCQ/M-18 12341

SALES PROMOTION AND PUBLIC
RELATIONS-II
BC-606

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any four questions

from the remaining eight questions.

YT e 1 dfed € 1 WY wee ¥ 9 9m uel
& sW s .

Compulsory Question ( 3fard uy=)

1.  Write short notes on the following :

(i) Marketing 2%
(i) Public Service Activities 2V
(ili) Advertisement 2%
(iv) Sales Promotion Programme 2%
(v) Ethics of Sales Promotion 3
(vi) Sales Management. 3
fr=fafen w dfea femforar fafaw .

G) famm \

(i) SE-gar fEan

(i) fazmom

(3-05/1) 1.-12341 P.T.O.



vy TEEE wEEd EEE
(v) fawzm dasa T
(v TaFEE TEER

What is Public Relation ? What are its characteristics ©
What is its mwmamom:om in marketing " 16

Explain in detail the various tools of public relations. 16

S-gme & fafr syl = famngds v wise

What is Sales Promotion ? How is it related to
Public Relations ? Explain the cthical aspects of Sales
Prometion. 16
S TEEA W ¥ 0 TSl SA-IE 9 9 mE Y7

“Sales promotion plays a significant role in the marketing.”
w:ma@ this statement. 16

e e TaguR § e wewqe qften fem €
70 wYA H A SETRY

What is Publicity ? Explain its relations wiih pubhc-
relations. What are the similarities of publicity and public
relations 7 1o

ﬁm T T 7 TeE WA-GTTE @ T AW T ¥ A
¥ T AR F 2

1.-12341 2

N

TOTOOTion Hregranne 16

frEayE EH FIET

Write short rotes on the following ¢

(i) - Local aspects of Public Relation b

(ity  Handouts and Lea 8

froafafea w0 aferg fonforat era :

(i) T-TEE & FUEE e

(v femm-mrmEl wwe w i

Why is the evaluation of sales promotion programmes

necessary ¢ How is it done 7 ib

T WAST FEET B qeAEA afl s 77 9
830y 1-1234+« 3 254



Budgeted Profit 1,20,000

Calculate B.E.P. and sales (units and amount) if :
(i)  Fixed cost is increased by 20%
(i) Variable cost is increased by 20%
,95 Fixed cost 1s decreased by 10% and variable cost
increased by 10%. : 16

"8. From the following details of a brass factory. Calculate

material variances : 16
Standard Mix Actual Mix
Copper 60kg. @ Rs. 5 perkg. 300 80 kg. @ Rs. 4.50 per kg. 360

Zinc 40 kg. @ Rs. 10 perkg. 400 70 kg. @ Rs. 8.00 perkg. 560

100 . 700 150 920
30 (30% loss) — 35 -
70 700 115 920

9. Define Budgetary Control. Examine the roles of budgetary
control in the field of planning, coordination and Control.
16

[-12343 4 850

RO NO. cornervvcerennrereennes

OBCQ/M-18 12343
COST ACCOUNTING-II
BC-602

Total Pages : 04

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

All questions carry equal marks.

1. Compulsory question :
(a) Describe cost-plus-contract. 2
(b) Differentiate job costing with contract costing. 2
(¢) What is abnormal wastage ? Give its accounting
treatment. 3
(d) Explain the features of integrated accounting. 3
(e) Explain the importance of margin of safety. 3

(f) Discuss the managerial uses of variance analysis.3

2. A firm of building constractors began to trade on 1st
April, 2015. The following was the expenditure on a
contract for Rs. 3.00,000 :

, Rs.
Material Issued to contract 51,000
Plant used for contract 15,000
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Wages Incurred 81,000
Other expenses incurred v 5.000

Cash received on account to 31 March, 2016 amounted

to Rs. 1,28,000 being 80 percent of the work certified. Of _

the plant and material charged to the contract, plant which
cost Rs. 3,000 -and material which costs Rs. 2.500 were
lost. On 31st march, 2016 plant which cost Rs. 2.000
was returned to store, the cost of work done but uncertified
was Rs. 1,000 and material costing Rs. 2,300 were in
hand on site. Charge 15 percent depreciation on
plant, reserve 1/3 profit received and prepare contract

account. Also prepare work in progress account and

Balance sheet. 16
A product passes through three processes A, B and C.
The normal wastage of each process is as follow
Process A-3 percent; Frocess B-5 percent; Process C-8
percent. Wastage of process A was sold at 25 paise per
unit; that of process B at 50 paise per unit and that of
process C at Re. 1 per unit. 10000 units were issued to
process A in the beginning of Oct. 2010, at a cost of Re.
1 per unit. The other Expenses were as follow :
Process A Process B Process C
Sundry Material . 1000 1500 500
Labour 5600 8000 6500
Direct Expenses 1050 1188 2009
12343 Z
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Actual output was :

Process A, 9500 Units; Process B 9100; Units; Process
8100 units. Prepare process accountsl; assuming that there
Was 1o opening no closing stocks. Also give the abnormal
wastage and abnormal efficiency. 16

Explain the terms “Joint Product” and “By-Product™.
Enumerate the methods which may be emploved in
apportionmeni of Joint Costs. 16

What is Transport Operating Costing ? Explain its
objectives and accounting procedure to determine the cost
of transport services. 16

What is Break-Even Analysis ? Discuss the assumptions
and limitations of this analysis. : 16

The following is the planning Budget of X Ltd. :
Fixed Variable Total

Budgeted Sales

{40000 units @ Rs. 25)

Budgeted Costs :

10,00,000
Material 1,80,600

2,00,000
1,40,000 60,000
Administrative overheads 1,20,000 20,000
1,00,000 60,000
3.60,000 520,000 8.80.000

Labour

Factory overheads

Distribution Expenses
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